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 ‘hmamḯ> bmoH$godm Am¶moJmÀ¶m narjm 2023

AW©ì¶dñWm, {dH$mg {df¶H$ AW©emó Am{U H¥$fr KQ>H$mda àíZ AgUmè¶m narjm
1) ghm¶H$ amgm¶{ZH$ {díbofH$ MmiUr narjm, 19 OmZodmar 2023
2) X§V eë¶{M{H$ËgH$ MmiUr narjm, 2023
3) ‘w»¶ àemgH$s¶ A{YH$mar MmiUr narjm 2023
4) ghm¶H$ ‘Ëñ¶ Am¶wº$ MmiUr narjm 2023
5) amÁ¶godm ‘w»¶narjm nong© 1 Vo 4, 2023
6) ‘hmamï´> JQ> H$ ‘w»¶ narjm nona 1, 2003
7) ’$m‘m©{gñQ>, d¡ÚH$s¶ ‘h{dÚmb¶o MmiUr narjm 2023
8) gm§p»¶H$s A{YH$mar, gmd©O{ZH$ Amamo½¶ MmiUr narjm 2023
9) H$m¶Xm A{YH$mar, ZJa{Z¶moOZ MmiUr narjm 2013
10) ghm¶H$ g§MmbH$,ZJa{Z¶moOZ MmiUr narjm 2023
11) ghm¶H$ H$m¶Xoera g„mJma/Aìda g{Md, ZJa{Z¶moOZ MmiUr narjm , 2013
12) ZJa{Z¶moOZ A{YH$mar MmiUr narjm 2023
13) {b{nH$ Q>§H$boIH$ (‘w»¶) narjm, 12 ’o$~«wdmar 2023
14) Xþæ¶‘ {ZarjH$ amÁ¶ CËnmXZ ewëH$ (‘w»¶) narjm 2023
15) H$a ghm¶H$ (‘w»¶ narjm) 4 ‘mM© 2023
16) CÚmoJ {ZarjH$, JQ> H$ (_w»`) narjm, 11 ‘mM© 2023

17) ghm¶H$ Am¶wº $(Am¡fYo ) MmiUr narjm, 17 ‘mM© 2023
18) ghmæ`H$ ({dYr) MmiUr narjm, 17 ‘mM© 2023
19) H${Zð> ŷd¡km{ZH$ MmiUr narjm, 17 ‘mM© 2023
20) H$m¶©H$mar A{^¶§Vm ({dÚwV) MmiUr narjm, 20 ‘mM© 2023
21) CnA{^¶§Vm ({dÚwV-¶m§{ÌH$s) MmiUr narjm, 20 ‘mM© 2023
22) ‘hmamï´> dZgodm ‘w»¶ narjm, 16 E{àb 2023
23) ‘hmamï´> AamOn{ÌV JQ> ~ d H$ godm, g§¶wº$ nyd©narjm, 30 E{àb 2023
24) ‘hmamï´> A{^¶m§{ÌH$s ({gpìhb) ‘w»¶ narjm, 23 E{àb 2023
25) Cng§MmbH$ Amamo½¶godm MmiUr narjm, 12 ‘o 2023
26) ‘hmamï´> A{^¶m§{ÌH$s ({dÚwV) ‘w»¶ narjm, 13 ‘o 2023
27) ‘hmamï´> H¥$frgodm ‘w»¶ narjm, 13 ‘o 2023
28) Cng§MmbH$ Am¡Úmo{JH$ gwajm MmiUr narjm, 16 ‘o 2023
29) ‘hmamï´> amOn{ÌV ZmJar godm g§¶wº$ nyd©narjm, 4 OyZ 2023
30) d¡ÚH$s¶ A{YH$mar MmiUr narjm, 8 Owb¡ 2023
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‘hmamḯ> AamOn{ÌV godm ‘w»¶ narjm (JQ> ~)/(JQ> H$) 2023

nona H«$‘m§H$ - 2 : gm‘mÝ¶ j‘Vm MmMUr

(4) AW©ì¶dñWm d {Z¶moOZ, {dH$mg {df¶H$ AW©emó Am{U H¥$fr
KQ>H$mdarb àíZ

A) g‘J«bjr AW©emó, {dH$mg {df¶H$ AW©emó -
1) g‘J«bjr AW©emó, ‘hmJmB© - H$maUo, n[aUm‘, {Z §̀ÌU, Cnm`
2) gmd©O{ZH$ {dÎm - Am{W©H$ d {dÎmr` YmoaU, boImnarjU
3) Am§Vaamï´>r` ì`mnma Am{U Am§Vaamï´>r` ^m§S>db
4) d¥Õr Am{U {dH$mg - joÌr` dmT>, EgS>rOr, n§Mdm{f©H$ ¶moOZm d {dH$mg H$m¶©H«$‘
5) J[a~r/ ~oH$mar - H$maUo, ñdén, àH$ma, ‘moO‘mn Am{U A§XmO, J[a~r {Z‘y©bZ H$m ©̀H«$‘, amoOJma {Z{‘©Vr H$m ©̀H«$‘
6) {dH$mg H$m ©̀H«$‘ - gm‘m{OH$ gwajm, {ejU, Amamo½`, ‘{hbm, ‘wbo, Á òð> ZmJ[aH, d§{MV JQ>m§À`m g§X^m©V gd©g‘mdoeH$Vm

~) ^maVr¶ AW©ì¶dñWm Am{U H¥$fr -
7) ^maVr¶ AW©ì¶dñWm, ^maVr¶ AW©ì¶dñWoMr AmìhmZo d Am{W©H$ gwYmaUm
8) ^maVr¶ eoVr d J«m‘rU {dH$mg - CËnmXH$Vm, gwYmaUm, {d{dY KQ>H$mgmR>r gdbVr d AZwXmZo>
9) ghH$ma - µH¥$fr {dÎm nwadR>m, {dnUZ, qH$‘Vr
10) ‘m¡{ÐH$ d {dÎmr¶ joÌ - MbZ nwadR>m, H«o${S>Q> Am{U ‘m°{ZQ>ar nm°{bgr
11) gmd©O{ZH$ {dÎm d {dÎmr¶ g§ñWm - ‘hgyb, AW©g§H$ën, gmd©O{ZH$ IM©
12) CÚmoJ d godm joÌ
13) nm`m ŷV gw{dYm {dH$mg
14) ^maVmMm {dXoer ì¶mnma - AmH$ma‘mZ, {Xem Am{U aMZm
15) ‘hmamï´>mMr AW©ì¶dñWm
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‘hmamḯ> AamOn{ÌV godm ‘w»¶ narjm (JQ> ~)/(JQ> H$) 2023

nona H«$‘m§H$ - 1 : ‘amR>r d B§J«Or

1) ‘amR>r ^mfm (50)

(1) gd©gm_mÝ` eãXg§J«h /15
(2) dmŠ`aMZm/13
(3) ì`mH$aU/12
(4)  åhUr d dmH²$àMma (AW© d Cn`moJ)/5
(5) CVmè`mdarc àíZmoÎmao/5

(2) B§J«Or ^mfm /50
(6) CommonVocabualry / 10

(7) SentenceStructure / 20

(8) Grammar /10

(9) Use of Idioms and Phrases / 5

(10) Comprehension / 5

nona H«$‘m§H$ - 2 : gm‘mÝ¶ AÜ¶¶Z d ~w{Õ‘mnZ MmMUr
1) gm‘mÝ¶ ~w{Õ‘mnZ d AmH$bZ /10
2) Mmcy KS>m‘moS>r - OmJ{VH$ VgoM ‘hmamï´>mgh ̂ maVmVrc /10
3) A§H$J{UV Am{U gm§p»¶H$s /10
4) A) ‘m{hVr A{YH$ma A{Y{Z¶‘, 2005 /5

~) ‘hmamîQ´> bmoH$godm h¸$, 2015 /5
5) ^maVr¶ g§KamÁ¶ ì¶dñWm, amÁ¶KQ>Zm, ñWm{ZH$ ñdamÁ¶ ì¶dñWm, H$m¶©H$mar ‘§S>i, Ý¶m¶‘§S>i, {dYr‘§S>i/15
6) A) ̂ maVmMm d _hmamï´>mMm ̂ yJmoc /10

 ~) n¶m©daU /5
7) gm‘mÝ¶ {dkmZ d V§ÌkmZ /15 -

A) ̂ m¡{VH$emó ({’${O³g) /2
~) agm¶Zemó (Ho${‘ñQ´>r) /2
H$) àmUremó (Pycm°Or) /2
S>) dZñn{Vemó (~m°Q>Zr) /2
B) Xÿag§doXZ, hdmB© d S´>moZ N>m¶m{MÌU, ̂ m¡Jmo{bH$ ‘m{hVr àUmbr d Ë¶mMo Cn¶moOZ /2
’$) ‘m{hVr d g§àofU V§ÌkmZ /5

8) AW©ì¶dñWm d {Z¶moOZ, {dH$mg {df¶H$ AW©emó Am{U H¥$fr /15
1) g‘J«bjr AW©emó, {dH$mg {df¶H$ AW©emó /6
2) ^maVr¶ AW©ì¶dñWm Am{U H¥$fr /9



‘hmamï´> AamOn{ÌV godm (JQ> ~)/(JQ> H$) ‘w»¶ narjm 2023/ 5

For Private Circulation Only



‘hmamï´> AamOn{ÌV godm (JQ> ~)/(JQ> H$) ‘w»¶ narjm 2023/ 6

For Private Circulation Only



‘hmamï´> AamOn{ÌV godm (JQ> ~)/(JQ> H$) ‘w»¶ narjm 2023/ 7

For Private Circulation Only

‘hmamḯ> AamOn{ÌV godm ‘w»¶ narjm (JQ> ~)/(JQ> H$) 2023

nona H«$‘m§H$ - 1 : ‘amR>r d B§J«Or g{dñVa Aä¶mgH«$‘

1) ‘amR>r (50)

(1) gd©gm_mÝ` eãXg§J«h /15
1) g_mZmWu eãX-{déÕmWu eãX
2) eãXmW©-g§km§Mo AW©
3) eãXg_yhm~Ôc EH$ eãX
4) eãXì¶wËnÎmr - VËg_ / VX²̂ d
5) Xoer / ^maVr¶ / na^mfoVrc eãX
6) eãX{gÕr - {gÕ eãX / YmVy
7) CngJ©K{Q>V eãX
8) àË¶¶gm{YV eãX - H¥$X§V - YmVy gm{YV / V{ÕV - eãX gm{YV
9) Aä`ñV eãX - nyUm©ä¶ñV / A§emä¶ñV / AZwH$aU dmMH$
10) Ac§H$m[aH / gm_m{gH$ / J«m_rU d ZmJar eãX
11) eãXmW© Z OwiUmam eãX, n`m©̀ r eãX / n`m©̀ r Zgcocm eãX
12) {d{dYAWu EH$ eãX
13) g§X ©̂ eãX [aH$må`m OmJr {ZdS>Uo
14) eãXm§Mo ewÕcoIZ - eãXmMm àH$ma, OmoS>eãX
15) {bnr, eãXeº$s/eãXm§Mo H$mì`JwU

(2) dmŠ`aMZm/13
1) dmŠ`mMo n¥W¸$aU -CÔoe d CÔoe{dñVma, {dYò  d {dYò {dñVma
2) dm³¶ g§ícofU d dmŠ`{Z{_©Vr
3) dmŠ`mVrc H$Vm© d H$‘©
4) H$V©ar à`moJ, H$_©Ur à`moJ
5) ^mdo à`moJ, ZdrZ àH$ma

* dm³¶aMZoZwgma àH$ma d ê$nm§Va
6) Ho$dcdm³¶, ‘w»¶ Am{U Jm¡U dm³¶o
7) g§¶wº$dm³¶ d dm³¶ ê$nm§Va
8) {‘ldm³¶ d dm³¶ ê$nm§Va

* AWm©dê$Z àH$ma d dmŠ` ê$nm§Va
9) hmoH$mamWu, ZH$mamWu d dm³¶ ê$nm§Va
10) àíZmW©H$ d dm³¶ ê$nm§Va
11) CX²JmadmMH$, AmkmWu d dm³¶ ê$nm§Va
12) dm³¶mVrb H$mi Am{U Am»¶mV
13) `mo½` {dam_{MÝhm§Mm dmna
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(3) ì`mH$aU/12
1) dUm©jao d eãXm§À`m OmVr

1) dUm©ja d ‘ycÜdZr
2) ñda
3) ì¶§OZ
4)AZwZm{gHo$
5) dU©aMZm
6) OmoS>mja
7) eãXm§À`m OmVr

2) Zm_ d Zm_mMo àH$ma
3) gd©Zm_
4) {deofU
5) {H«$`mnXm§Mo àH$ma, ê$n d YmVwgm{YVo
6) {H«$¶m{deofU d eãX¶moJr Aì``
7) C^¶mÝd¶r d Ho$dbà¶moJr Aì``
8) gm_mÝ`ê$n d {d^º$s
9) qcJ d dMZ
10) g§Yr d g_mg
11) Ac§H$ma, d¥Îmo, nÚaMZm - H$mì`/Amoì`m
12) dmL²>_`rZ B{Vhmg d ^m{fH$ gm_mÝ`kmZ

(4) åhUr d dmH²$àMma (AW© d Cn`moJ)/5
41) åhUrMm `mo½` AW©
42) dmH²$àMmamMm `mo½` AW©
43) `mo½` AWm©Mr åhU/n`m©̀ r åhU {ZdS>Uo
44) n`m©̀ r dmH²$àMma
45) åhUrMm/dmH²$àMmamMm dm³¶mV Cn¶moJ

(5) CVmè`mdarc àíZmoÎmao/5
46) CVmam H«$.1 àíZ H«$.1
47) CVmam H«$.1 àíZ H«$.2
48) CVmam H«$.1 àíZ H«$.3
49) CVmam H«$.1 àíZ H«$.4
50) CVmam H«$.1 àíZ H«$.5
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(2) B§J«Or /50

(6) CommonVocabualry /10

51) Synonyms / Homonym

52) Antonyms

53) One Word substitution

54) Meaning / Wrong meaning of words, underlined words

55) Correct spelling

56) Names for groups/collection

57) Use of correct word

58) Word formation /Construction / building

59) Confusing words & Full form

60) Fill in the blanks

(7) SentenceStructure /20
61) Types of sentences - structure

62) Types of sentences - meaning

63) Types of clauses

64) Question tags and Interrogative sentences

65) Grammatically Correct sentence

66) Grammatical error part

67) Punctuation

68) Direct - Indirect Speech

69) Active & Passive Voice

70) Degrees

71) Transformation

72) Completion of clauses

73) Meaning of sentence

74) Sentence completion

75) Sentence construction

76) Types of sentences - structure/meaning

77) Types of clauses

78) Grammatically Correct /error part/Punctuation

79) Direct - Indirect Speech

80) Active & Passive Voice

(8) Grammar /10
81) Types and use of Noun, Pronouns

82) Types and use of correct Adjectives

83) Types and use of Verbs, Modals

84) Types of Tenses

85) Use of correct Adverb
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86) Use of correct Preposition

87) Use of correct Conjunction and Interjection

88) Use of Articles

89) Singular & Plural, Gender

90) Figure of Speech

(9) Use of Idioms and Phrases / 5
91) Correct meaning of a phrase

92) Correct meaning of an idiom

93) Correct use of phrase

94) Correct use of an idiom

95) Gerundial phrase, Substitution of phrase / idiom

(10) Comprehension / 5
96) Passage no.2, Q.no.1

97) Passage no.2, Q.no.2

98) Passage no.2, Q.no.3

99) Passage no.2, Q.no.4

100) Passage no.2, Q.no.5
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‘hmamḯ> AamOn{ÌV godm ‘w»¶ narjm (JQ> ~)/(JQ> H$) 2023

nona H«$‘m§H$ - 2 : gm‘mÝ¶ j‘Vm MmMUr g{dñVa Aä¶mgH«$‘
1) ^maVmMm d _hmamï´>mMm ̂ yJmoc /10
2) n¶m©daU /5
3) gm‘mÝ¶ {dkmZ d V§ÌkmZ /15

A) ^m¡{VH$emó ({’${O³g)
~) agm¶Zemó (Ho${‘ñQ´>r)
H$) àmUremó (Pycm°Or)
S>) dZñn{Vemó (~m°Q>Zr)
B) Xÿag§doXZ, hdmB© d S´>moZ N>m¶m{MÌU, ^m¡Jmo{bH$ ‘m{hVr àUmbr d Ë¶mMo Cn¶moOZ
’$) ‘m{hVr d g§àofU V§ÌkmZ

4) AW©ì¶dñWm d {Z¶moOZ, {dH$mg {df¶H$ AW©emó Am{U H¥$fr /15
A) g‘J«bjr AW©emó, {dH$mg {df¶H$ AW©emó
~) ^maVr¶ AW©ì¶dñWm Am{U H¥$fr

5) ^maVr¶ g§KamÁ¶ ì¶dñWm, amÁ¶KQ>Zm, ñWm{ZH$ ñdamÁ¶ ì¶dñWm, H$m¶©H$mar ‘§S>i, Ý¶m¶‘§S>i, {dYr‘§S>i/15
6) ‘m{hVr A{YH$ma A{Y{Z¶‘, 2005 /5
7) ‘hmamîQ´> bmoH$godm h¸$, 2015 /5
8) Mmcy KS>m‘moS>r - OmJ{VH$ VgoM ‘hmamï´>mgh ̂ maVmVrc /10
9) gm‘mÝ¶ ~w{Õ‘mnZ d AmH$bZ /10
10) A§H$J{UV Am{U gm§p»¶H$s /10

(1) ^maVmMm d _hmamḯ>mMm ŷJmoc /10
1) _hmamï´>mMm d ^maVmMm àmH¥${VH$ ŷJmoc - IS>H$, ^m¡Jmo{bH$ CËH«$m§Vr d d¡{eï²> ò
2) {d{dY ŷéno, nd©V Am{U nR>ma - Q>oH$S>çm, am§Jm, {eIao, KmQ>
3) _w»` àmH¥${VH$ {d^mJ - {h‘mb¶, ‘¡XmZo, {H$ZmanÅ>r, nR>ma, gømÐr, H$moH$U, ~oQ>o
4) hdm‘mZemó, nO©Ý`‘mZ d Vmn‘mZ
5) nO©Ý`mVrc {d^mJdma ~Xc
6) ZÚm - YaUo Am{U qgMZ àH$ën
7) Z¡g{J©H$ g§nÎmr - dZo, eoVr - O{‘ZrMo àH$ma, à‘wI {nHo$
8) I{ZOo Am{U D$Om© g§gmYZo, Am{W©H$ ŷJmob - dmhVyH$ Am{U n ©̀Q>Z, CÚmoJ, ehao
9) amOH$s` {d^mJ, àemgH$s` {d^mJ - ^mfm, O‘mVr Am{U d§e, ñWmZo Am{U gr‘m
10) _mZdr d gm_m{OH$ ŷJmoc - cmoH$g§»`m, bmoH$g§»¶oMo ñWmZm§Va d Ë¶mMo CJ‘ d Bï>ñWmZmdarb n[aUm_ , J«m_rU

dñË`m d Vm§S>o, PmonS>nQ²>Q>çm d Ë`m§Mo àíZ

(2) n¶m©daU /5
11) ‘mZd {dH$mg d n¶m©daU, n¶m©daUnyaH$ {dH$mg, n[apñW{VH$s
12) Z¡g{J©H$ gmYZg§nÎmrMo {deofV: dZg§nÎmrMo g§YmaU
13) {d{dY àH$maMr àXÿfUo d n¶m©daUr¶ AmnÎmr
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14) ½bmo~b dm°{‘ªJ d h[aV dm¶y
15) n¶m©daU g§dY©ZmV H$m¶©aV Agboë¶m amÁ¶/amï´>/ OmJ{VH$ nmVirdarb g§KQ>Zm d g§ñWm

(3) gm‘mÝ¶ {dkmZ d V§ÌkmZ /15
A) ̂ m¡{VH$emó ({’${O³g) /2

16) JVremó, CîUVm, bhar - àH$me, ÜdZr, {dÚwVMw§~H$s¶ bhar
17) {dÚwVemó, Mw§~H$Ëd, AUw{dkmZ, IJmobemó Am{U A§Vami {dkmZ

~) agm¶Zemó (Ho${‘ñQ´>r) /2
18) AmdV©gmaUr - YmVy, AYmVy, jma,Amåb, g§̀ wJo, dm ỳ, IVo
19) amgm`{ZH$ A{^{H«$`m, g|{Ð` agm`Zemó - hm`S´moH$m~©Ýg, H$sQ>H$ZmeHo$, B§YZ

H$) àmUremó (Pycm°Or) /2
20) noer{dkmZ d M¶mnM¶Z, àmÊ`m§Mo dJuH$aU Am{U CXmhaUo, àmUr eara{dkmZ
21) Cn ẁº$ Am{U hmZrH$maH$ àmUr - newnmbZ, Xw½Yì`dgm`, Hw$ w̧$Q>nmbZ

S>) dZñn{Vemó (~m°Q>Zr) /2
22) dZñnVtMo dJuH$aU Am{U CXmhaUo
23) H¥$fr{dkmZ d dZemó, Cn ẁº$ Am{U hm{ZH$maH$ dZñnVr - ’$bmoËnmXZ Am{U ’w$beoVr

B) Xÿag§doXZ, hdmB© d S´>moZ N>m¶m{MÌU, ̂ m¡Jmo{bH$ ‘m{hVr àUmbr d Ë¶mMo Cn¶moOZ /2
24) Xÿag§doXZ, hdmB© d S´>moZ N>m¶m{MÌU
25) ^m¡Jmo{bH$ ‘m{hVr àUmbr d Ë¶mMo Cn¶moOZ

’$) ‘m{hVr d g§àofU V§ÌkmZ /5
26) g§JUH$ V§ÌkmZ - AmYw{ZH$ g‘mOmVrc g§JUH$mMr ŷ{‘H$m, doJdoJù¶m joÌmVrc OrdZmV g§JUH$mMm dmna
27) H$å¶w{ZHo$eZ V§ÌkmZ - S>mQ>m H$å¶w{ZHo$eZ, ZoQ>d{Hª$J Am{U do~ Q>o³Zm°cm°Or
28) gm¶~a JwÝho d Ë¶mg à{V~§Y
29) emgZmMo Am¶Q>r H$m¶©H«$‘ - {‘S>r¶m c°~ E{e¶m, {dÚm dm{hZr, kmZ dm{hZr, gm‘y{hH$ ‘m{hVr H|$Ð BË¶mXr
30) ‘m{hVr V§ÌkmZ CÚmoJ -^maVmVrc ‘m{hVr V§ÌkmZ CÚmoJmMr dmT>

(4) AW©ì¶dñWm d {Z¶moOZ, {dH$mg {df¶H$ AW©emó Am{U H¥$fr/15
A) g‘J«bjr AW©emó, {dH$mg {df¶H$ AW©emó -

31) g‘J«bjr AW©emó, ‘hmJmB© - H$maUo, n[aUm‘, {Z §̀ÌU, Cnm`
32) gmd©O{ZH$ {dÎm - Am{W©H$ d {dÎmr` YmoaU, boImnarjU
33) Am§Vaamï´>r` ì`mnma Am{U Am§Vaamï´>r` ^m§S>db
34) d¥Õr Am{U {dH$mg - joÌr` dmT>, EgS>rOr, n§Mdm{f©H$ ¶moOZm d {dH$mg H$m¶©H«$‘
35) J[a~r/ ~oH$mar - H$maUo, ñdén, àH$ma, ‘moO‘mn Am{U A§XmO, J[a~r {Z‘y©bZ H$m ©̀H«$‘, amoOJma {Z{‘©Vr H$m ©̀H«$‘
36) {dH$mg H$m ©̀H«$‘ - gm‘m{OH$ gwajm, {ejU, Amamo½`, ‘{hbm, ‘wbo, Á òð> ZmJ[aH, d§{MV JQ>m§À`m g§X^m©V gd©g‘mdoeH$Vm

~) ^maVr¶ AW©ì¶dñWm Am{U H¥$fr -
37) ^maVr¶ AW©ì¶dñWm, ^maVr¶ AW©ì¶dñWoMr AmìhmZo d Am{W©H$ gwYmaUm
38) ^maVr¶ eoVr d J«m‘rU {dH$mg - CËnmXH$Vm, gwYmaUm, {d{dY KQ>H$mgmR>r gdbVr d AZwXmZo>
39) ghH$ma - µH¥$fr {dÎm nwadR>m, {dnUZ, qH$‘Vr
40) ‘m¡{ÐH$ d {dÎmr¶ joÌ - MbZ nwadR>m, H«o${S>Q> Am{U ‘m°{ZQ>ar nm°{bgr
41) gmd©O{ZH$ {dÎm d {dÎmr¶ g§ñWm - ‘hgyb, AW©g§H$ën, gmd©O{ZH$ IM©
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42) CÚmoJ d godm joÌ
43) nm`m ŷV gw{dYm {dH$mg
44) ^maVmMm {dXoer ì¶mnma - AmH$ma‘mZ, {Xem Am{U aMZm
45) ‘hmamï´>mMr AW©ì¶dñWm

(5) ^maVr` amÁ`ì¶dñWm/15
* ^maVr¶ g§KamÁ¶ ì¶dñWm, ̂ maVr¶ amÁ¶KQ>Zm, ñWm{ZH$ ñdamÁ¶ ì¶dñWm, H$m¶©H$mar ‘§S>i, Ý¶m¶‘§S>i, {dYr‘§S>i-

A) ̂ maVr¶ amÁ¶KQ>Zm -
46) KQ>Zm H$er V¶ma Pmbr - g§{dYmZ g^m, òmoV, g{‘Ë`m, {MÝho
47) KQ>ZoÀ`m àñVmdZo_mJMr ŷ{_H$m d VÎdo, {ZY_u amÁ`, R>iH$ d¡{eîQ>ço
48) g§{dYmZmVrb ‘hÎdmMr H$c_o - n[a{eîQ>o, KQ>ZmXþéñVr
49) ‘yc ŷV h¸$ d H$V©ì ò
50) amÁ¶YmoaUmMr _mJ©Xe©H$ VÎdo - {ejU, ẁ{Z\$m°_© {gìhrc H$moS>
51) g§{dYmZmË‘H$ Am`moJ Am{U ‘§S>io

~) ^maVr¶ g§KamÁ¶ ì¶dñWm -
52) H|$Ð d amÁ` g§~§Y - ZdrZ amÁ ò

H$) H$m¶©H$mar ‘§S>i, Ý¶m¶‘§S>i, {dYr‘§S>i -
53) ñdV§Ì Ý`m`nm{cH$m
54) amÁ¶nmc, ‘w»¶‘§Ìr d ‘§{Ì‘§S>i - ŷ{‘H$m, A{YH$ma d H$m¶©
55) amÁ¶ {dYr‘§S>i - {dYmZg^m, {dYmZn[afX d Ë¶m§Mo gXñ¶, A{YH$ma, H$m¶© d ŷ{‘H$m, {dYr g{‘Ë¶m
56) H|$Ðr¶ {dYr‘§S>i - bmoH$g^m d amÁ¶g^m
57) H|$Ðr¶ H$m¶©H$mar ‘§S>i - amï´>nVr, Cnamï´>nVr d n§VàYmZ

S>) ñWm{ZH$ ñdamÁ¶ ì¶dñWm -
58) n§Mm¶V amOMr CËH«$m§Vr - H$m¶Xo, g{‘Ë¶m, KQ>ZmXþéñVr
59) J«m‘n§Mm`V, VmbwH$m n§Mm`V, {Oëhm n[afX - aMZm d H$m¶}
60) {Oëhm d ZmJar àemgZ - aMZm d H$m¶}

(6) ‘m{hVr A{YH$ma A{Y{Z¶‘, 2005 /5
61) ‘m{hVr A{YH$ma H$m¶ÚmMr CËËH«$m§Vr, gwYmaUm d BVa ~m~r
62) ‘m{hVr A{YH$ma H$m¶ÚmVrb ‘hÎdmMr H$b‘o
63) ‘m{hVr A{YH$ma H$m¶Úmer g§~§{YV ¶§ÌUm d A{YH$mar
64) ‘m{hVr A{YH$ma H$m¶ÚmZwgmaMr H$madmB© d {ejoMr VaVyX
65) ‘m{hVr A{YH$ma H$m¶ÚmVrb ÌwQ>r d XþéñË¶m, Anrb

(7) ‘hmamîQ́> bmoH$godm h¸$, 2015/5
66) bmoH$godm h¸$ H$m¶ÚmMr CËËH«$m§Vr, gwYmaUm d BVa ~m~r
67) bmoH$godm h¸$ H$m¶ÚmVrb ‘hÎdmMr H$b‘o
68) bmoH$godm h¸$ H$m¶Úmer g§~§{YV ¶§ÌUm d A{YH$mar
69) bmoH$godm h¸$ H$m¶ÚmZwgmaMr H$madmB© d {ejoMr VaVyX
70) bmoH$godm h¸$ H$m¶ÚmVrb ÌwQ>r d XþéñË¶m, Anrb
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(8) Mmcy KS>m‘moS>r - OmJ{VH$ VgoM ‘hmamḯ>mgh ^maVmVrc /10
71) OmJ{VH$ amOH$s¶ KQ>Zm - g§KQ>Zm, Am§Vaamï´>r¶ g§~§Y, ‘mZdr h¸$ {df¶H$ KQ>Zm, g§ajU{df¶H$ KQ>Zm
72) amï´>r¶ amOH$s¶ KQ>Zm - {ZdS>UwH$m, àemgZ, Ý¶m¶mb¶rZ {ZH$mb, Am¶moJ, H$m¶Xo d KQ>ZmXþéñË¶m, Am§XmobZo
73) Am{W©H$ d {dÎmr¶ KQ>Zm - {dXoer ì¶mnma, AW©g§H$ën d gmd©O{ZH$ {dÎm, ~±qH$J d d {dÎm, Xm[aX²Œ¶ d ~oH$mar
74) d¡km{ZH$ KQ>Zm - AmpÊdH$ àH$ën,Am¶grQ>r, AdH$me{dkmZ, d¡km{ZH$ g§ñWm d g§emoYH , O¡dV§ÌkmZ, amoJ{dkmZ $
75) gm‘m{OH$ d e¡j{UH$ KQ>Zm -gm‘m{OH$ gwajoMo CnH«$‘ d nwT>mH$ma, e¡j{UH$ d Amamo½¶ joÌmVrb KQ>Zm
76) ^m¡Jmo{bH$ d n¶m©daU{df¶H$ KQ>Zm - àH$mePmoVmVrb ñWio, amOH$s¶ ̂ yJmob, n¶m©daU n[afXm, H$m¶Xo, AmnÎmrì¶dñWmnZ
77) gm§ñH¥${VH$ d gm{hpË¶H KQ>Zm - g§JrV d Z¥Ë¶, {MÌnQ>, ¶mÌm, g§ñWm d ñ‘maHo$, nwñVHo$ d boIH$, gm{hË` g§_ocZ
78) H«$sS>m{df¶H$ KQ>Zm d gm‘mÝ¶kmZ - H«$sS>m ñnYm©, IoimSy>§Mr H$m‘{Jar, ‘hÎdmMo {Xdg, gd©àW‘, gdm©V ‘moR>o/N>moQ>o
79) Zo‘UwH$m, {Z¶wº$s d àH$mePmoVmVrb ì¶º$s
80) nm[aVmo{fH$, nwañH$ma d ~hþ‘mZ

(9) gm‘mÝ¶ ~w{Õ‘mnZ d AmH$bZ /10
81) {dYmZo Am{U ẁ{º$dmX, J¥{hVHo$, {ZîH$f©
82) n[aÀN>oXm§déZ {ZîH$f©, n[apñWVr Am{U à{VgmX, {dYmZ Am{U H¥$VrMm ‘mJ©
83) {ZU©̀  KoUo, g‘ñ`m gmoS>dUo, à{VnmXZ-H$maU, Hy$Q> ‘m{hVrdarb àíZ
84) S>oQ>m g{’${gEÝgr, {dYmZmÀ`m gË`VoMr nS>VmiUr
85) ZmVog§~§Y, {díbofU
86) ~¡R>H$, H«$‘ d ‘m§S>Ur ì`dñWm, ‘mZm§H$Z MmMUr
87) J{UVr` VH©$, ‘erZ BZnwQ d {MÝho
88) gm§Ho${VH$ ^mfm, gmå¶, VwbZm, dJuH$aU
89) g§»¶m Am{U dU©‘m{bH$m
90) AmH¥$Ë`m d KZmdarb àíZ, doZ AmH¥$Ë`m

(10) A§H$J{UV Am{U gm§p»¶H$s /10
91) g§»`màUmbr - bgm{d, ‘gm{d, dJ©‘yi Am{U KZ‘yi
92) ~oarO, dOm~mH$s, JwUmH$ma, ^mJmH$ma, Xem§e AnyUmªH$
93) Q> o̧$dmar, ^mJrXmar, JwUmoÎma Am{U à‘mU, {‘lU, gmIir {Z`‘
94) doi d A§Va, aoëdo, ~moQ> d Obàdmh
95) H$mi d H$m‘
96) Z’$m Am{U VmoQ>m, {dH«$s Am{U IaoXr
97) gmYo d MH«$dmT> ì`mO
98) {Xem{ZX}e, KS>çmi, H°$b|S>a, d`
99) g§̂ mì`Vm, H«$‘M¶, gamgar
100) AmboI, Vºo$, ŷ{‘Vr



‘hmamï´> AamOn{ÌV godm (JQ> ~)/(JQ> H$) ‘w»¶ narjm 2023/ 16

For Private Circulation Only

A) g‘J«bjr AW©emó, {dH$mg {df¶H$ AW©emó -
1) g‘J«bjr AW©emó, ‘hmJmB© - H$maUo, n[aUm‘, {Z §̀ÌU, Cnm`
2) gmd©O{ZH$ {dÎm - Am{W©H$ d {dÎmr` YmoaU, boImnarjU
3) Am§Vaamï´>r` ì`mnma Am{U Am§Vaamï´>r` ̂ m§S>db
4) d¥Õr Am{U {dH$mg - joÌr` dmT>, EgS>rOr, n§Mdm{f©H$ ¶moOZm d {dH$mg H$m¶©H«$‘
5) J[a~r/ ~oH$mar - H$maUo, ñdén, àH$ma, ‘moO‘mn Am{U A§XmO, J[a~r {Z‘y©bZ H$m ©̀H«$‘, amoOJma {Z{‘©Vr H$m ©̀H«$‘
6) {dH$mg H$m`©H«$‘ - gm‘m{OH$ gwajm, {ejU, Amamo½`, ‘{hbm, ‘wbo, Á`oð> ZmJ[aH$, d§{MV JQ>m§À`m g§X^m©V

gd©g‘mdoeH$Vm

~) ^maVr¶ AW©ì¶dñWm Am{U H¥$fr -
7) ^maVr¶ AW©ì¶dñWm, ^maVr¶ AW©ì¶dñWoMr AmìhmZo d Am{W©H$ gwYmaUm
8) ^maVr¶ eoVr d J«m‘rU {dH$mg - CËnmXH$Vm, gwYmaUm, {d{dY KQ>H$mgmR>r gdbVr d AZwXmZo>
9) ghH$ma - µH¥$fr {dÎm nwadR>m, {dnUZ, qH$‘Vr
10) ‘m¡{ÐH$ d {dÎmr¶ joÌ - MbZ nwadR>m, H«o${S>Q> Am{U ‘m°{ZQ>ar nm°{bgr
11) gmd©O{ZH$ {dÎm d {dÎmr¶ g§ñWm - ‘hgyb, AW©g§H$ën, gmd©O{ZH$ IM©
12) CÚmoJ d godm joÌ
13) nm`m ŷV gw{dYm {dH$mg
14) ^maVmMm {dXoer ì¶mnma - AmH$ma‘mZ, {Xem Am{U aMZm
15) ‘hmamï´>mMr AW©ì¶dñWm

‘hmamḯ> AamOn{ÌV godm ‘w»¶ narjm (JQ> ~)/(JQ> H$) 2023

nona H«$‘m§H$ - 2 : gm‘mÝ¶ j‘Vm MmMUr

(4) AW©ì¶dñWm d {Z¶moOZ, {dH$mg {df¶H$ AW©emó Am{U H¥$fr
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(1) g‘J«bjr AW©emó, ‘hmJmB© - H$maUo, n[aUm‘, {Z §̀ÌU, Cnm`
1) XaS>moB© H$‘r dmñV{dH$ CËnÞ ho Zoh‘r .......... joÌmVrb CËnmXZmV Jw§Vboë`m H$m ©̀aV bmoH$g§» òÀ`m H$‘r à‘mUmV

Am{U àmW{‘H$ CËnmXZmV Cƒ Q> o̧$dmarer g§~§{YV AgVo.
1) ‘mÜ`{‘H$ 2) ‘yb ŷV 3) V¥Vr`H$ 4) àmW{‘H$

1) Low real income per head is always associated with a low proportion of the working population

engaged in .......... production and a high percentage in primary production.

1) secondary 2) basic 3) tertiary 4) primary

2) Imbrbn¡H$s H$moUVm BZnwQ>‘Yrb bhmZ ~Xb ^m{Jbo AmCQ>nwQ>‘Yrb g§~§{YV ~XbmZo g‘mZ Amho?
1) ‘yb ŷV dH«$ Xa 2) `mo½` B§YZ Xa 3) dmT>rd B§YZ Xa 4) geV© dH«$ Xa

2) Which of the following is equal a small change in input divided by the corresponding change in

output?

1) Fundamental curve rate 2) Corrected fuel rate

3) Incremental fuel rate 4) Conditional curve rate

3) Imbrbn¡H$s H$moUVo KQ>H$ CËnmXZ IMm©da n[aUm‘ H$aV ZmhrV?
1) OZaoQ>a H$m ©̀j‘Vm 2) B§YZ IM© 3) Ag§Vw{bV ^ma 4) Q´mÝg{‘eZ ZwH$gmZ

3) Which of the following factors does NOT influence the generating cost ?

1) Generator efficiency 2) Fuel cost

3) Unbalanced load 4) Transmission losses

4) dmT>rd CËnmXZ, ‘yb ŷV CÚmoJm§‘Ü ò Cƒ Jw§VdUyH$, ~±H$ nV {dñVma, Cƒ qH$‘Vr, Cƒ Z’$m, nyU© amoOJma BË`mXter
g§~§{YV Agbobm Q>ßnm ........... åhUyZ AmoiIbm OmVmo.
1) dmT>rMm Q>ßnm 2) g‘¥ÕrMm Q>ßnm
3) nwZàm©árMm Q>ßnm 4) darbn¡H$s Zmhr

4) The stage which is associated with increased production, high investment in basic industries,

expansion of bank credit, high prices, high profits, full employment, etc. is known as

1) Incremental stage 2) Prosperity stage

3) Recovery stage 4) None of the above

5) Ooìhm {H$‘Vt‘Ü ò gmVË`nyU© dmT> Xadfu gw‘mao 10 Q> o̧$ AgVo Voìhm Ë`mbm ‘hmJmB© åhUVmV.
1) YmdUo 2) hm`na 3) am§JUo 4) MmbUo

5) When the sustained rise in prices is about 10 per cent per annum, it is called inflation.

1) Running 2) Hyper 3) Creeping 4) Walking

6) ZwH$gmZrMr gdm©V ImbMr nmVir {OWo ZwH$gmZ ‘moObo OmD$ eH$Vo {Vbm ........ Ago åhUVmV
1) ETL 2) EIL

3) ZwH$gmZ gr‘m (DB) 4) ZwH$gmZ
6) The lowest level of injury where damage can be measured is called .......

1) ETL 2) EIL

3) Damage Boundary (DB) 4) Damage
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7) g§Vw{cV d¥Õr XamMm CÔoe ........... hm AgVmo.
1) CËnÞmMm d¥Õr Xa, CËnmXZ d¥Õr Xa Am{U Z¡g{J©H$ gmYZg§nÎmrMm d¥Õr Xa ¶m§À¶mVrc g‘mZVm
2) CËnÞmVrc d¥Õr Xa Am{U cmoH$g§»¶m d¥Õr Xa ¶m§À¶mVrc g‘mZVm
3) Z¡g{J©H$ gmYZg§nÎmrMm d¥Õr Xa Am{U CËnÞmVrc d¥Õr Xa ¶m§À¶mVrc g‘mZVm
4) Z¡g{J©H$ gmYZg§nÎmrMm d¥Õr Xa Am{U cmoH$g§»¶m d¥Õr Xa ¶m§À¶mVrc g‘mZVm

7) Balanced growth rate aims at ...........

1) equality between growth rate of income, growth rate of output and growth rate of natural

resources

2) equality between growth rate of income and growth rate of population

3) equality between growth rate of natural resources and growth rate of income

4) equality between growth rate of natural resources and growth rate of population

8) ^maVmÀ`m 2022-23 À`m Am{W©H$ gd}jUmZwgma, J«mhH$ AÞ qH$‘V {ZX}em§H$ (CFPI) da AmYm[aV AÞ ‘hmJmB©
Am{W©H$ df© 2022 ‘Ü ò 3.8 Q>³³`m§dê$Z 2023 ‘Ü ò 7 Q>³³`m§da nmohmoMbr. XadmT>rgmR>r gdm©V OmñV O~m~Xma
Agboë`m XmoZ à‘wI MmbH$m§Mr {ZdS> H$am Am{W©H$ df© 2023 ‘Ü ò AÞYmÝ` ‘hmJmB©V.
1) ‘m§g Am{U ‘mgo Am{U Xw½YOÝ` nXmW©
2) ‘gmbo Am{U ’$io
3) H$S>YmÝ ò Am{U Ë`mMr CËnmXZo Am{U ‘gmbo
4) V¥UYmÝ ò Am{U Ë`mMo CËnmXZ Am{U XyY Am{U Ë`mMo CËnmXZ

8) As per Economic survey of India 2022-23, food inflation based on Consumer Food Price Index

(CFPI) climbed to 7 per cent in financial year 2023 from 3.8 per cent in financial year 2022.

Select the two top most drivers responsible for hike in food inflation in FY 2023.

1) Meat & Fish and Milk Products

2) Spices and Fruits

3) Pulses & its products and spices

4) Cereals & its product and milk & its product

(2) gmd©O{ZH$ {dÎm - Am{W©H$ d {dÎmr` YmoaU, boImnarjU, boIm
1) gd© AmCQ>JmoB§J dOm H$ê$Z ‘mb‘ÎmoMo {Zìdi dm{f©H$ CËnÞ  3,00,000 Amho. ì`mO Xa dm{f©H$ 10% Agë`mg

‘mb‘ÎmoMo ^m§S>dbr ‘yë` {H$Vr Agob?
1) 3,00,000 2) 33,00,000 3) 30,00,000 4) 3,30,000

1) The net annual income from a property deducting all outgoings is  3,00,000. What would be the

capitalized value of the property, if the rate of interest is 10% per annum ?

1)  3,00,000 2)  33,00,000 3) 30,00,000 4) 3,30,000

2) Oa {g‘|Q> Am{U ñQ>rbMm nwadR>m R>oHo$XmamEodOr {d^mJmH$Sy>Z Ho$bm OmV Agob, Va Xa {díbofUm‘Ü ò ñQ>rb Am{U
{g‘|Q>darb Zâ`mMr Q> o̧$dmar ............. Zo dOm Ho$br OmVo.
1) 20% 2) 15% 3) 25% 4) 10%

2) If cement and steel are supplied by the Department and not by the contractor, then the percentage

of profit on steel and cement in Rate Analysis is deducted by ................

1) 20% 2) 15% 3) 25% 4) 10%
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3) ‘mb‘ÎmoMo ‘yi ‘yë` 10 bmI é. Amho. ‘mb‘ÎmoMo Am ẁî` 10 df} J¥hrV Yê$Z Am{U Ë¶mMo ñH«°$n ‘yë¶ 1 bmI én`m§Mo
Agë¶mg 6 dfm©Z§VaMr Ë¶mMo ~wH$ ‘yë¶ §̂Jma ‘yë` emoYm. (gai ñdénmMm Kgmam J¥hrV Yam).
1) 4-6 bmI 2) 5.4 bmI 3) 4.0 bmI 4) 6.0 bmI

3) Find out the book value, after 6 years of an asset costing  10 lakh originally, assuming 10 years

as life of the asset and the scrap value of  1 lakh. (Assume straight line depreciation) Select the

correct option.

1)  4-6 lakh 2)  5.4 lakh 3)  4.0 lakh 4)  6.0 lakh

4) ~m§YH$m‘ CnH$aUo ‘mbH$sMr Am{U MmbdÊ`mMr qH$‘V ‘moOÊ`mgmR>r Imbrbn¡H$s H$moUË`m ~m~tMm g‘mdoe H$amdm?
a) Mmby IM© b) Jw§VdUyH$ IM© c) XoI^mb Am{U XwéñVrMm IM© d) Kgmam
n¶m©¶r CÎmao …
1) darb gd© 2) ’$º$ (a) Am{U (b)

3) ’$º$ (a), (b) Am{U (c) 4) ’$º$ (a), (b) Am{U (d)

4) Which of the following are the items to be included for computing the cost of owning and operating

construction equipment ?

a) Running costs b) Investment costs

c) Cost of maintenance and repairs d) Depreciation

Answer options :

1) All of the above 2) Only (a) and (b)

3) Only (a), (b) and (c) 4) Only (a), (b) and (d)

5) ‘mb‘ÎmoÀ`m ‘yë`m§H$ZmMm Imbrb CÔoe Zmhr:
1) {d{dY H$am§Mo ‘yë`m§H$Z 2) ^mS>o {Z{íMV H$aUo
3) H$O© qH$dm JhmU R>odÊ`mgmR>r gwajm 4) Xa {díbofU

5) The following is not a purpose of valuation of a property :

1) Assessment of different Taxes 2) Fixation of Rent

3) Security for Loans or Mortgage 4) Rate Analysis

6) Imbrbn¡H$s H$moUVr nÕV hr EpñQ>‘oQ> H$mTÊ¶mMr T>mo~i nÕV Zmhr?
1) dm{f©H$ XwéñVr qH$dm XoI^mb A§XmO 2) pßb¨W joÌ A§XmO
3) KZgm‘J«r A§XmO 4) godm ẁ{ZQ> nÕV

6) Which of the following is not an approximate method of Estimate ?

1) Annual Repair or Maintenance Estimate 2) Plinth Area Estimate

3) Cubical Content Estimate 4) Service Unit Method

7) ñno{g{’$Ho$eZ boIZmÀ`m gm‘mÝ` VÎdm§À`m g§X^m©V, Imbrbn¡H$s H$moUVo ñQ>oQ>‘|Q> ~amo~a Zmhr?
a) ñno{g{’$Ho$eZ boIH$mZo Ë`mZo Oo ñno{g{’$Ho$eZ Z‘yX Ho$bo Amho Ë`mMr H$maUo ÚmdrV.
b) H«$m°g-ao’$aÝg H$‘r Ho$bo OmdoV Am{U Amdí`H$ Agë`mg ’$º$ erf©Ho$ g§X{ ©̂V Ho$br OmdrV.
c) H$m‘mÀ`m {H$‘Vrda n[aUm‘ H$aUmè`m gd© ~m~tMm g‘mdoe H$ê$Z Vnerbdma dU©Z Ho$bo nm{hOo.
d) ì`mdgm{`H$ AmH$ma eŠ`Vmoda {Z{X©ï> Ho$bo nm{hOoV.
n¶m©¶r CÎmao …
1) ’$º$ (a) 2) ’$º$ (b) 3) ’$º$ (b) Am{U (c) 4) darbn¡H$s H$mhrhr Zmhr
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7) In view of the general principles of specification writing, which of the following statemenus

islare not correct ?

a) The specification writer should give reasons for what he specifies.

b) Cross-references should be minimized, and only titles be referred, if need be.

c) All items affecting the cost of the work should be included and described in detail.

d) Commercial sizes should be specified as far as possible.

Answer options :

1) Only (a) 2) Only (b) 3) Only(b) and (c) 4) None of the above

8) YmoaU {ZpíMVr‘Ü¶o Imcrcn¡H$s H$em‘wio H$R>rU doi Amcr Amho ?
1) g§gJ©OÝ¶ ‘hm‘marMr nwZamd¥Îmr 2) nwadR>m - gmIir AS>Wio
3) ^mddmT> 4) darc gd©

8) Which of the following have created challenging times for policy-making ?

1) Repeated waves of infection 2) Supply - chain disruptions

3) Inflation 4) All of the above

9) ^maV gaH$maZo AW©ì`dñWoÀ¶m {MañWm¶r XrK©H$mbrZ {dñVmamgmR>r H$moUË`m Cnm``moOZm A§‘bmV AmUë`m AmhoV?
A) g‘mOmVrc Agwa{jV KQ>H$ Am{U ì¶mnma joÌmgmR>r gwa{jVVm Omio.
~) nm¶m ŷV gw{dYmdarc ^m§S>dcr IMm©V ‘moR>r dmT>.
H$) ‘Ü¶‘H$mcrZ ‘mJUr nyd©nXmda AmUUo.
S>) nwadR>m ~mOy Cnm¶m§Mr AmH«$‘H$ A§‘c~OmdUr.
Imcrcn¡H$s ¶mo½¶ n¶m©¶ {ZdS>m.
1) ’$º$ A 2) ’$º$ ~ 3) A Am{U ~ 4) A, ~, H$ Am{U S>

9) Which measures have been implemented by the government of India to prepare the economy for

a sustained long-term expansion ?

A) Bouquet of safety-nets to vulnerable sections of society and business sector.

B) Significant increase in capital expenditure on infrastructure.

C) To build back medium-term demand.

D) Aggressively implemented supply-side measures.

Choose the correct option.

1) Only A 2) Only B 3) A and B 4) A, B,C and D

(3) ‘Zwî¶~i/ bmoH$g§»¶m, Am§Vaamḯ>r` ì`mnma d Am§Vaamḯ>r` ^m§S>db
1) EImÚm XoemMr ì`mdgm{`H$ aMZm doJdoJù`m ì`dgm`m§Zwgma Ë`mMo {dVaU qH$dm {d^mJUr Xe©dVo.

1) bmoH$g§»`m 2) ‘mb‘Îmm 3) g§nÎmr 4) CËnÞ
1) The occupational structure of a country refers to the distribution or division of its according to

different occupations.

1) population 2) property 3) wealth 4) income
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2) ......... EImÚm XoemV åhUOo EHy$U bmoH$g§» ò‘Ü ò H$m ©̀aV bmoH$g§» òMo à‘mU, d` Am{U qbJ aMZm, H$m‘ H$aÊ`mMr
d¥Îmr, H$m‘mMr CnbãYVm BË`mXr KQ>H$m§da Adb§~yZ AgVo.
1) H$m ©̀~b gh^mJ Xa 2) Am{W©H$ àJVr
3) Cƒ OrS>rnr 4) ‘Zwî` eº$s

2) .......... in a country i.e. proportion of working population to total population, depends upon such

factors as age and sex composition, attitude to work, availability of work etc.

1) The work force participation rate 2) Economic progress

3) High GDP 4) Man power

(4) d¥Õr Am{U {dH$mg - joÌr` dmT>, EgS>rOr, n§Mdm{f©H$ ¶moOZm
1) emídV {dH$mg Ü ò̀  (SDG) bú` 3.1 Zwgma, 2030 n ª̀V JmR>bo OmUmao ‘mVm‘¥Ë ỳ à‘mUmMo C{Ôï> à{V 1,00,000

{Od§V OÝ‘m§‘mJo ........... Amho.
1) 150 nojm H$‘r 2) 100 nojm H$‘r 3) 70 nojm H$‘r 4) 50 nojm H$‘r

1) The target of maternl mortality ratio, to be achieved by 2030, as per Sustainable Development

Goal (SDG) Target 3.1, is ........... per 1,00,000 live births.

1) Less than 150 2) Less than 100 3) Less than 70 4) Less than 50

2) 2015 ‘Ü ò g§̀ wº$ amï´>m§Zr bmoH$, J«h Am{U g‘¥ÕrgmR>r {H$Vr emídV {dH$mg bú ò (SDGs) ñdrH$mabr AmhoV?
1) 15 2) 16 3) 17 4) 18

2) How many Sustainable Development Goals (SDGs) are adopted by United Nations in 2015 for

its agenda of action for people, planet and prosperity ?

1) 15 2) 16 3) 17 4) 18

3) H$moUVm SDG gd© d`moJQ>mVrb gdmªgmR>r Amamo½`Xm`r OrdZ gw{ZpíMV H$éZ Ë¶m§Mo H$ë`mUmgmR>r àmoËgmhZ ¶m~m~V
Amho?
1) 2 2) 3 3) 6 4) 9

3) Which SDG deals to ensure health lives and promote well-being for all at all ages ?

1) 2 2) 3 3) 6 4) 9

4) ‘mZdr OrdZ‘mZmMr VwbZm doJdoJù`m Xoem§‘Yrb ........... Ûmao Ho$br OmD$ eH$Vo.
1) DALY 2) HDI 3) PQLI 4) HPI

4) Human Living Standards can be compared in different countries by ...........

1) DALY 2) HDI 3) PQLI 4) HPI

5) ............. hr ^maVr¶ Am{W©H$ {Z¶moOZmMr ‘w»¶ C{Ôï>o AmhoV.
1) 1950 2) 1947 3) 1930 4) 1944

5) In the year, ‘Bombay Plan’ was prepared for the development of Indian Economy.

1) 1950 2) 1947 3) 1930 4) 1944
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6) UNDP’s Mm AmXoe Amho:
A) hdm‘mZ ~XbmMo ‘yë`m§H$Z
~) J[a~rer bT>m
H$) ‘mZdr H$ë`mU, n`m©daU g§dY©Z Am{U g‘mZVm
S>) n`m©daUmg AZwHy$b YmoaUo Am{U nÕVr bmJy H$aUo
CÎma n`m©̀ :
1) (A) Am{U (~) 2) ’$º$ (~) 3) (H$) Am{U (S>) 4) ’$º$ (S>)

6) UNDP’s mandate is :

a) the assessment of climate change

b) to fight poverty

c) human well-being, environmental conservation and equity

d) implementing environmentally sound policies and practices

Answer options :

1) (a) and (b) 2) Only (b) 3) (c) and (d) 4) Only (d)

7) 2015 ‘Ü ò g§̀ wº$ amï´>mZo ñdrH$maboë`m eml²dV {dH$mg C{Ôï>m§n¡H$s (SDGs) Imbrbn¡H$s H$moUVo Zmhr?
1) Jar~r Zmhr 2) eyÝ` ŷH$ 3) Mm§Jbo Amamo½` Am{U H$ë`mU 4) OrdZmMr JwUdÎmm

7) Which of the following is NOT one of the Sustainable Development Goals (SDGs) adopted by

the United Nation in 2015 ?

1) No Poverty 2) Zero Hunger

3) Good Health and Well-being 4) Quality of Life

8) Imcrcn¡H$s H$moUVm n¶m©¶ emídV {dH$mgmÀ¶m g§H$ënZoMo dU©Z H$aVmo ?
1) AënH$mcrZ C{Ôï>m§Mr OnUyH$ Z H$aVm AmIcocr XrK©H$mcrZ d¥Õr
2) h[aV d¥Õr
3) ^mdr {nT>çm§À¶m JaOm ^mJ{dÊ¶mÀ¶m j‘Voer VS>OmoS> Z H$aVm dV©‘mZ {nT>rÀ¶m JaOm§Mr nyV©Vm
4) g‘mZ d¥Õr

8) Which of the following describes the concept of sustainable development ?

1) Along-term growth without caring for short-term objectives

2) Green growth

3) Meeting needs of present generation without compromising ability of future generation to

meet their own needs

4) Equitable growth

9) ‘mZdr {dH$mg hr cmoH$m§À¶m {ZdS>r {dñVmaUmar à{H«$¶m AgyZ, Ë¶mV nwT>rc ~m~tMm g‘mdoe hmoVmo :
a) XrK©H$mcrZ Am{U {ZamoJr Am¶wî¶ b) {ejU
c) amhUr‘mZmMm CÎm‘ XOm© d) Xm[aÐçmV cjUr¶ KQ>
n¶m©¶r CÎmao :
1) ’$º$ (a) Am{U (b) 2) ’$º$ (b) Am{U (c) 3) ’$º$ (a),(b) Am{U (c) 4) darc gd©

9) Human Development is a process of enlarging people’s choices. It includes the following things:

a) Long and healthy life b) Education

c) Decent standard of living d) Substantial Reduction in poverty

Answer options :

1) Only (a) and (b) 2) Only (b) and (c) 3) Only (a), (b) and (c) 4) All of the above
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10) ............. hr ^maVr¶ Am{W©H$ {Z¶moOZmMr ‘w»¶ C{Ôï>o AmhoV.
1) Am[W©H$ dmT> 2) AmË‘{Z ©̂aVm 3) amoOJma H$‘r H$aUo 4) J[a~r Xÿa H$aUo.
n¶m©¶r CÎmao :
1) (a) ’$º$ (b) 2) (a), (b) Am{U ’$º$ (c) 3) (a), (b) Am{U (d) 4) darc gd©

10) are the main objectives of Indian economic planning.

a) Economic growth b) Self-reliance

c) Reducing employment d) Elimination of poverty

Answer options :

1) (a) and (b)  2) (a), (b) and (c) 3) (a), (b)and(d) 4) All of the above

11) {deof àXoe {dH$mg H$m¶©H«$‘ ¶mgmR>r V¶ma H$aÊ¶mV Ambm ..........
A) Xm[aX²Œ¶ {Z‘y©bZ d amoOJma dmT> ~) S>m|Jami d Am{Xdmgr ^mJmMm {dH$mg
H$) XþîH$miJ«ñV ^mJmV {dH$mg S>) J«m‘rU ^mJmV Am¡Úmo{JH$aU
n¶m©¶r CÎmao …
1) A ’$º$ 2) ~ Am{U S> ’$º$ 3) ~ Am{U H$ ’$º$ 4) S> ’$º$

11) Special Area Development Programme has been formulated for

a) Poverty eradication and employment growth

b) To develop hilly and tribal area

c) To develop drought prone area

d. Industrialization in the rural area

Answer Options :

1) a only 2) b and d only 3) b and c only 4) d only

12) ‘mZdr {dH$mg {ZX}em§H$m‘Ü¶o ~hþAm¶m‘r Xm[aÚ« {ZX}em§H$mMo ..............., .............., ..........., VrZ Am¶m‘
à{Vq~{~V hmoVmV.
A) Amamo½¶ ~) CËnÞ H$) {ejU S>) amhUr‘mZ
n¶m©¶r CÎmao …
1) A, ~ Am{U H$ 2) ~, H$ Am{U S> 3) A, H$ Am{U S> 4) A, ~ Am{U S>

12) Multidimensional poverty index has three dimensions mirroring in the Human Development index.

a) Health b) Income c) Education d) Living standards

Answer Options :

1) a, b and c 3) a, c and d 2) b, c and d 4) a, b and d

13) ZrVr Am`moJmÀ`m (NITI) g§X^m©V, Imbrbn¡H$s H$moUVr {dYmZo gË` AmhoV?
a) H|$Ð Am{U amÁ` gaH$mam§gmR>r 'qWH$ Q>±H$' åhUyZ H$m‘ H$aVo.
b) g§~§{YV YmoaUmË‘H$ Am{U Vm§{ÌH$ g„m {Xbm OmVmo.
c) V§ÌkmZ gwYmaUm Am{U j‘Vm dmT>dÊ`mda ^a Úm.
d) H$m ©̀H«$‘m§À`m A§‘b~OmdUrMo narjU Am{U ‘yë`m§H$Z H$ê$ ZH$m.
Answer Options :

1) a Am{U b ’$º$ 2) c Am{U d ’$º$ 3) a, b Am{U c ’$º$ 4) darb gd©
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13) With regards to NITI Aayog, which of the following statements are true ?

a) Works as 'Think tank' for Central and State Governments.

b) Relevant strategic and technical advice is given.

c) Focus on technology upgradation and capacity building.

d) Do not monitor and evaluate the implementation of programmes.

Answer Options :

1) a and b only 2) c and d only 3) a, b and c only 4) all of the above

14) ^m¡{VH$ JwUdÎmm {ZX}em§H$ (PQLI) ‘Ü ò dJiVm gd© g‘m{dï> AmhoV
1) gmjaVm 2) ~mb‘¥Ë ỳ Xa
3) EH$ d`mMo Am ẁ‘m©Z 4) XaS>moB© GDP

14) Physical Quality of life Index (PQLI) include all except

1) Literacy 2) Infant mortality rate

3) Life expectancy at age one 4) GDP per capita

15) WHO Zwgma amhUr‘mZmÀ`m ‘mZH$m§‘Ü ò dJiVm gd© g‘m{dï> AmhoV
1) ñdÀN>Vm Am{U nmofU 2) CËnÞ Am{U ì`dgm`
3) Amamo½`mÀ`m VaVwXrMr nmVir 4) ‘mZdr h¸$

15) Standard of living as per WHO includes all except

1) Sanitation and nutrition 2) Income and occupation

3) Level of provision of health 4) Human Rights

16) ‘mZd {dH$mg {ZX}em§H$ (HDI) ‘Ü¶o ........... `m§Mm g‘mdoe hmoVmo.
1) ~mb‘¥Ë ỳ Xa 2) {Zìdi àOZZ Xa
3) OÝ‘mÀ`m doir Am ẁ‘m©Z 4) An§JËdmMr df}

16) Human Development Index (HDI) include ..........

1) Infant Mortality Rate 2) Net Reproductive Rate

3) Life Expectancy at Birth 4) No. of years of disability

17) Am{W©H$ {dH$mgmV Amamo½`mÀ`m ŷ{‘Ho$Mo {díbofU Imbrbn¡H$s H$moUË¶m n¶m©¶mÛmao Ho$bo Jobo Amho ?
1) àË`j l‘ CËnmXH$Vm à^md 2) AàË`j àmoËgmhZ à^md
3) darb XmoÝhr 4) darbn¡H$s Zmhr

17) The role of health in economic development is analysed by the following channel ...........

1) Direct labour productivity effect 2) Indirect incentive effect

3) Both of the above 4) None of the above

18) ewpånQ>a ¶m§À¶m ‘Vo,
A) {dH$mg åhUOo pñWVrerb pñWVrV I§S>rV Am{U CËñ’y$V© ~Xb hmo¶.
~) Va d¥Õr åhUOo H«$‘e… Am{U pñWa XrK©H$mbrZ ~Xb, Omo hiwdma ~MV Am{U bmoH$g§»¶m dmT>r‘wio hmoVmo.
darbn¡H$s H$moUVo {dYmZ ¶mo½¶ Amho/V?
1) A ’$º$  2) ~ ’$º$ 3) A Am{U ~ 4) darbn¡H$s H$moUVohr Zmhr
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18) According to Schumpeter,

a) Development is a discontinuous and spontaneous change in the stationary state.

b) While growth is a gradual and steady change in the long run which, comes about by a gradual

increase in the rate of savings and population.

Which of the statement above is/are correct ?

1) a only 2) b only 3) a and b 4) None of the above

19) g§Vw{cV d¥Õr {gÕm§VmZwgma ...... ‘Ü¶o g§VwbZmMr JaO Amho.
A) Cn^mo½¶ dñVy d Am¡Úmo{JH$ dñVy ~) ^m§S>dbr dñVy d Am¡Úmo{JH$ dñVy
H$) H¥$fr joÌ d Am¡Úmo{JH$ joÌ S>) AW©ì¶dñWoVrb gd© joÌ
n¶m©¶r CÎmao …
1) ’$º$ A 2) ’$º$ H$ 3) ’$º$ S> 4) ’$º$ A Am{U ~

19) Balanced growth theory requires balance between ..........

a) Consumer goods and industrial goods b) Capital goods and industrial goods

c) Agricultural sector and industrial sector d) All sectors in the economy

Answer Options :

1) Only a 2) Only c 3) Only d 4) Only a and b

20) ¶moOZm {Z{‘©Vr Am{U ¶emgmR>r nwT>rb ~m~tMr JaO AgVo …
A) {Z¶moOZ Am¶moJ, AmH$S>odmar, C{Ôï>o ~) bú¶o Am{U AJ«H«$‘ {ZpíMVr, g§gmYZ g§H$bZ
H$) A «̂ï> Am{U H$m¶©j‘ àemgZ, ¶mo½¶ {dH$mg YmoaU S>) àemgZ H$mQ>H$ga, {ejUmMm nm¶m
n¶m©¶r CÎmao …
1) A ’$º$ 2) A Am{U ~ 3) A, ~ Am{U H$ 4) A, ~, H$ Am{U S>

20) The formulation and success of a plan require the following :

a) Planning Commission, Statistical data, Objectives

b) Fixation of Targets and Priorities, Mobilisation of Resources

c) Incorrupt and Efficient Administration, Proper Development Policy

d) Economy in Administration, Education base

Answer Options :

1) a only 2) a and b 3) a, b and c 4) a, b, c and d

21) {d{dY ¶moOZm XñVEodOmVyZ {Z¶moOZmVyZ {Z¶moOZmMr XrK©H$mbrZ C{ÔîQ>ço Imbrbà‘mUo {XgyZ ¶oVmV.
A) Am{W©H$ d¥Õr, AmË‘{Z ©̂aVm ~) ~oH$mar {Z‘y©bZ, CËnÞ {df‘Vm KQ>
H$) J[a~r {Z‘y©bZ, AmYw{ZH$sH$aU S>) g‘mdoeH$ Am{U emídV d¥Õr
n¶m©¶r CÎmao …
1) A ’$º$ 2) ~ ’$º$ 3) H$ ’$º$ 4) A, ~, H$ Am{U S>

21) The long-term objectives of economic planning, as spelt out in various plan documents have been

as follows :

a) Economic growth, self-reliance

b) Removal of unemployment, reduction in income inequalities

c) Elimination of poverty, modernization

d) Inclusiveness and sustainability of growth

Answer Options :

1) a only 2) b only 3) c only 4) a, b, c and d
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(5) J[a~r / ~oH$mar, amoOJma {Z{‘©Vr H$m ©̀H«$‘
* H$maUo, ñdén, àH$ma, ‘moO‘mn Am{U A§XmO, J[a~r {Z‘y©bZ H$m ©̀H«$‘

1) ""g§nyU© J«m‘rU amoOJma ¶moOZm""(SGRY) .......... ‘Ü¶o gwé H$aÊ¶mV Amcr.
1) gßQ>§|~a 2001 2) Zmoìh|~a 2001 3) {S>g|~a 2003 4) OmZodmar 2001

1) “Sampoorna Gramin Rozgar Yojaria” (SGRY) was launched in

1) September 2001 2) November 2001 3) December 2003 4) January 2001

2) ^maV gaH$maZo J[a~m§da bj H|${ÐV H$ê$Z bpú`V gmd©O{ZH$ {dVaU àUmbr (TPDS) bm±M Ho$br.
1) OyZ 1945 2) OyZ 1946 3) OyZ 1992 4) OyZ 1997

2) The Government of India launched the Targated Public Distribution Systems (TPDS) with a focus

on the poor in

1) June 1945 2) June 1946 3) June 1992 4) June 1997

3) .... gmbr nS>boë¶m ~§JmbÀ`m XwîH$mimZ§Va, AÞYmÝ`mÀ`m Ý`mæ` {dVaUmgmR>r aoeqZJMr ì`dñWm ̂ maVmV gwê$ Pmbr.
1) 1941 2) 1943 3) 1945 4) 1947

3) Since ...... (after Bengal famine), the system of rationing for equitable distribution of food grains

was introduced in India.

1) 1941 2) 1943 3) 1945 4) 1947

4) Ooìhm EImÚm Hw$Qw>§~mMm d§{MVVm JwUm§H$ ......... Q> o̧$ qH$dm Ë¶mnojm A{YH$ AgVmo, Ë¶mdoir Vo Hw$Qw>§~ AZoH$ A§Jm§Zr
(~hþ{‘V) X[aÐr ‘mZbo OmVo.
1) 20.33 2) 50.33 3) 40.33 4) 33.3

4) If deprivation score of a household is ......... percent or greater, then that household is called

multidimensionally poor.

1) 20.33 2) 50.33 3) 40.33 4) 33.3

5) a§JamOZ g{‘Vr, 2014 Zo df© 2011-12 gmR>r Xm[aÐç aofm X¡Z§{XZ XaS>moB© Cn^moJ IM© .......... ehar ^mJmgmR>r
Am{U .......... J«m‘rU ^mJmgmR>r {ZpíMV Ho$br Amho.
1) 50 én¶o Am{U 35 én¶o 2) 47 én¶o Am{U 32 én¶o
3) 55 én¶o Am{U 40 én¶o 4) 60 én¶o Am{U 45 én¶o

5) Rangarajan Committee, 2014 defined poverty line for 2011-12 at Rs. ............ per capita per day

consumption expenditure for urban areasa and Rs. ............... capita per day for rural areas.

1) Rs. 50 and Rs. 35 2) Rs. 47 and Rs. 32

3) Rs. 55 and Rs. 40 4) Rs. 60 and Rs. 45

6) Imbrb {ZH$fm§À¶m AmYmao 2011-12 ¶m dfm©gmR>r {Z¶moOZ Am¶moJmZo Xm[aX²Œ¶ aofm {ZpíMV Ho$br.
1) XaS>moB© CËnÞ à{V‘{hZm J«m‘rU ^mJmgmR>r ê$. 816 d ehar ^mJmgmR>r ê$. 1000
2) XaS>moB© CËnÞ à{V‘{hZm J«m‘rU ^mJmgmR>r ê$. 47 d ehar ^mJmgmR>r ê$. 32
3) XaS>moB© CËnÞ à{V‘{hZm J«m‘rU ^mJmgmR>r ê$. 49.63 d ehar ^mJmgmR>r ê$. 56.64
4) ¶m§n¡H$s Zmhr
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6) For 2011-12 planning commission had defined poverty line with the help of following criteria.

1) Rs.816 and Rs. 1,000 per capita income per month in rural areas and urban areas

respectively.

2) Rs.47 and Rs.32 per capita income per day in rural areas and urban areas respectively.

3) Rs.49.63 and Rs.56.64 per capita income per day in rural areas and urban areas respectively

4) None of these

7) H|$Ðr` AW©g§H$ën 2023 ‘Ü ò ‘hmË‘m Jm§Yr amï´>r` J«m‘rU amoOJma h‘r `moOZogmR>r (MGNREGA) {H$Vr ~OoQ>
XoÊ`mV Ambo Amho?
1) é. 40,000 H$moQ>r 2) é. 50,000 H$moQ>r
3) é. 60,000 H$moQ>r 4) é. 70,000 H$moQ>r

7) How much budget has been allocated to Mahatma Gandhi National Rural Employment Guarantee

Scheme (MGNREGA) in the Union Budget 2023 ?

1) Rs.40,000 crore 2) Rs.50,000 crore

3) Rs.60,000 crore 4) Rs.70,000 crore

8) 2011-12 ‘Ü¶o EHy$U l‘eº$s‘Ü¶o, {Z`{‘V amoOJma Am{U àmg§{JH$ amoOJmamMm H$m¶ {hñgm hmoVm ?
1) ñd¶§amoOJma 32%, {Z`{‘V 18%, àmg§{JH$ 30%
2) ñd¶§amoOJma 30%, {Z`{‘V 52%, àmg§{JH$ 18%
3) ñd¶§amoOJma 20%, {Z`{‘V 18%, àmg§{JH$ 62%
4) ¶mn¡H$s Zmhr

8) What was the share of self employed, regular employees and casual labours in the total workforce

in 2011-12 ?

1) Self employed 52%, regular 18%, casual 30%

2) Self employed 30%, regular 52%, casual 18%

3) Self employed 20%, regular 18%, casual 62%

4) None of these

9) ''EImXm Xoe Jar~ AgVmo H$maU Vmo Jar~M AgVmo '' ho {dYmZ ...... Mo Amho.
1) Or. {‘Xm©b 2) a°¾a Z³g© 3) am°{~Ýg 4) ‘me©b

9) ‘A country is poor, because it is poor’ this statement is of

1) G. Myrdal 2) Ragnar Nurks 3) Robbins 4) Marshall

10) ............ ¶m g{‘Ë¶m Xm[aÐçmer g§~§{YV ZmhrV.
a) Xm§S>oH$a Am{U aW g{‘Vr b) {‘Ýhmg g{‘Vr
c) Zaqgh‘ g{‘Vr d) Vmamnmoa g{‘Vr
n¶m©¶r CÎmao :
1) (a) Am{U (b) 2) (b) Am{U (c) 3) (c) Am{U (d) 4) darc gd©

10) ....... these committees are not related to poverty.

a) Dandekar and Rath’s Committee b) Minhas Committee

c) Narasimham Committee d) Tarapore Committee

Answer options:

1) (a) and (b) 2) (b) and (c) 3) (c) and (d) (4) All of the above
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11) gßQ>|~a 2001 ‘Ü¶o Odmha J«mg‘¥Õr ¶moOZm Am{U amoOJma ¶moOZm ........... ¶m ¶moOZoV EH${ÌV H$aÊ¶mV Amë¶m.
1) g§nyU© J«m‘rU amoOJma ¶moOZm 2) ñdU©O¶§Vr J«m‘ ñdamoOJma ¶moOZm
3) àYmZ ‘§Ìr J«m‘moX¶ ¶moOZm 4) ñdU©O¶§Vr ehar amoOJma ¶moOZm

11) In September 2001 the schemes of Jawahar Gram Samridhi Yojana and Employment Assurance

Scheme have been integrated with ..........

1) Sampoorna Grameen Rozgar Yojana 2) Swarnajayanti Gram Swarozgar Yojana

3) Pradha Mintri Gramoday Yojana 4) Swarnajayanti Shahari Rozgar Yojana

12) gmd©O{ZH$ {dVaU àUmbrÀ`m dMZ~ÕVoer ...... Mo à‘mU WoQ> OmoS>bobo AgVo.
1) ‘mJUr 2) nwadR>m 3) IaoXr 4) AÞgmIir

12) The quantum of is directly linked with the commitments of the public distribution system.

1) demand 2) supply 3) procurement 4) food chain

13) {deofV: AÞYmÝ`mÀ`m Q>§MmB©À`m H$mimV {H$‘Vr dmT>dÊ`mMm à`ËZ H$aUmè`m ì`mnmar Am{U ì`mdgm{`H$m§{déÕ
à{VH$ma §̀ÌUm åhUyZ H$m‘ H$aUo hm .......... ¶moOZoÀ¶m KQ>H$m§n¡H$s EH$ Amho.
1) AÞ gwajm 2) ~’$a ñQ>m°H$
3) gmd©O{ZH$ {dVaU ì`dñWm 4) AÞ gwajm ì`dñWm

13) To act as a countervailing mechanism against traders and businessman who try to push up prices,

especially during periods of shortage of food is one of the component of ..........

1) food safety 2) buffer stock

3) public distribution system 4) food security system

14) Z¡g{J©H$arË¶m, ñdmV§Í`nyd© H$mimV ‘Zwî¶~imMm gh^mJ Xa ........... hmoVm.
1) H$‘r 2) Cƒ 3) {H$‘mZ 4) gm‘mÝ`

14) Naturally, the work force participation rate was ......... in pre-independence period.

1) low 2) high 3) minimum 4) normal

(6) {dH$mg H$m ©̀H«$‘ - gm‘m{OH$ gwajm, {dÎmr¶ g‘mdoeZ
* {ejU, Amamo½`, ‘{hbm, ‘wbo, Á òð> ZmJ[aH, d§{MV JQ>m§À`m g§X^m©V gd©g‘mdoeH$Vm

1) OZZr gwajm `moOZm (JSY) hr .................. àm`mo{OV `moOZm Amho.
1) WHO 2) UNICEF 3) amÁ` gaH$ma 4) H|$Ð gaH$ma

1) Janani Suraksha Yojana (JSY) is .................. sponsored scheme.

1) WHO 2) UNICEF 3) State Govt 4) Central Govt

2) emco¶ nmofU Amhma ¶moOZoer nwT>rcn¡H$s H$moUË¶m ~m~r g§~§{YV AmhoV ?
a) àmW{‘H$ {ejUmMo gmd©{ÌH$aU H$aUo. b) {dÚmÏ¶mªMr nQ>Zm|XUr dmT>{dUo.
c) ‘mo’$V JUdoe dmQ>n H$aUo. d) darc gd©
darcn¡oH$s H$moUVo {dYmZ/{dYmZo ~amo~a Amho/AmhoV ?
1) (a) Am{U (b) 2) (b) Am{U (c) 3) (a) Am{U (c) 4) ’$º$ (d)
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2) ‘Which of the following is related to school mid-day meal programme ?

a) Universalization of primary education b) Increasing student enrolment

c) Distribute free uniforms d) All of the above

Which of the statement(s) given above is/are correct ?

1) (a) and(b) 2) (b) and (c) 3) (a) and (c) 4) Only (d)

3) nwT>rc {dYmZm§Mm {dMma H$am :
{dYmZ (I) : ‘{hcm Am{U ~mcHo$ ¶m§Zm EH$mpË‘H$ cm^ XoÊ¶mgmR>r {‘eZ eº$s ¶moOZm gwé H$aÊ¶mV Amcr.
{dYmZ (II) : 2022-23 ¶m dfm©H$[aVm "{‘eZ dmËgë¶gmR>r" é. 2,472 H$moQ>r BVH$s VaVyX H$aÊ¶mV Amcr.
n¶m©¶r CÎmao :
1) {dYmZo (II) ~amo~a Amho, MyH$ Amho 2) {dYmZ (I) ~amo~a Amho, (II) MyH$ Amho.
3) XmoÝhr {dYmZo MyH$ AmhoV 4) XmoÝhr {dYmZo ~amo~a AmhoV

3) Consider the following statements :

Statement (I) : The Mission Shakti Yojana was launched to provide integrated benefits to women

and children.

Statement (I) : A provision of Rs. 2,472 crore has been made for ‘Mission Vatsalya’ for the year

2022-23.

Answer options :

1) Statement (II) is correct, (I) is incorrect 2) Statement (I) is correct, (II) is incorrect

3) Both statements are incorrect 4) Both statements are correct

4) PMJAY `moOZoÀ`m g§X^m©V Imbrb {dYmZo {dMmamV ¿`m :
a) hr OJmVrb gdm©V ‘moR>r Amamo½` {d‘m `moOZm Amho, Or nyU©nUo gaH$maÛmao {dÎmnwadR>m Ho$br OmVo.
b) ho H$m¡Qw>§{~H$ AmH$ma, d` qH$dm qbJ `mda {Z~ªYm§gh Amamo½` godm godm§‘Ü ò gd© ZmJ[aH$m§Zm H°$ebog àdoe àXmZ

H$aVo.
c) ho ̂ maVmVrb gmd©O{ZH$ qH$dm ImOJr é½Umb`mV Xwæ`‘ Am{U àmXo{eH$ XoI^mb é½Umb`mV àdoemgmR>r à{V Hw$Qw>§~

à{V df© é. 5 bmI H$ìha àXmZ H$aVo.
d) `m‘Ü ò hm°pñnQ>bm`PoeZnyduÀ`m 3 {Xdgm§n ª̀V Am{U hm°pñnQ>bm`PoeZZ§VaÀ`m 15 {Xdgm§À`m EŠñàog Ogo H$s

{ZXmZ Am{U Am¡fYo g‘m{dï> AmhoV.
darbn¡H$s H$moUVr {dYmZo gË` AmhoV/AmhoV?
1) a Am{U b ’$º$ 2) a, b Am{U c ’$º$ 3) b, c Am{U d ’$º$ 4) a, c Am{U d ’$º$

4) Consider the following statements in context to PMJAY Scheme :

a) It is World's largest Health Insurance Scheme, fully financed by the Government.

b) It provides cashless access to all citizens to health care services with restrictions on family

size, age or gender.

c) It provides cover of Rs.5 lakh per family per year for secondary and tertiary care hospitalisation

access at empanelled public or private hospital in India.

d) It covers upto 3 days of pre hospitalisation and 15 Days post hospitalisation express such as

diagnostics and medicines.

Which of the above statements is/are true ?

1) a and b only 2) a, b and c only 3) b, c and d only 4) a, c and d only
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5) gmd©O{ZH$ {dVaU ì`dñWoVyZ ........... dñVyÀ¶m bm^mgmR>r nmÌ Zgboë`m Hw$Qw>§~m§Zm H$mTy>Z Q>mH$Ê`mgmR>r àm{áH$a
{ZYm©aH$mMm {ZH$f dmnaÊ`mMm gaH$maMm ‘mZg Amho.
1) Jhÿ 2) Vm§Xyi 3) gmIa 4) Jhÿ, Vm§Xyi Am{U Vob

5) The Government intends to use the income tax assessee’s criterion to eliminate non-eligible

families for .......... from public distribution system.

1) Wheat 2) Rice 3) Sugar 4) Wheat, rice and oil

6) 1990 ‘Ü ò Staatz Zo XrK©H$mbrZ AmYmamda ImÌr XoÊ`mMr j‘Vm Aer ì`m»`m Ho$br Amho H$s AÞ àUmbr EHy$U
bmoH$g§» òbm doioda, {dídmgmh© Am{U nm¡{ï>H$Ñï²>`m nwaoem AÞ nwadR>çmgmR>r àdoe àXmZ H$aVo.
1) gmd©O{ZH$ {dVaU ì`dñWm 2) AÞ gwajm
3) aoeqZJ ì`dñWm 4) AÞ gwajm

6) Staatz in 1990 defined as the ability to assure on a long term basis, that the food system provides

the total population access to a timely, reliable and nutritionally adequate supply of food.

1) Public distribution system 2) Food safety

3) Rationing system 4) Food security

7) `mo½` OmoS>çm Owidm :
      `moOZm                             CÔoe
i) nrE‘-Amem a) nrEgEg A§VJ©V Vob {~`mUo Am{U H$S>YmÝ ò IaoXr H$aUo Am{U ’$m`Xoera {H$‘Vr

àXmZ H$aUo
ii) E‘Am¶Eg-nrEgEg b) nrEgEg, nrS>rnrEg Am{U nrnrEgEg Mm g‘mdoe Agboë`m eoVH$è`m§Zm E‘Egnr

gw{Z{üV H$aÊ`mgmR>r
iii) nrE‘-{H$gmZ c) eoVH$ar Hw$Qw>§~m§Zm CËnÞmMm AmYma XoÊ`mgmR>r
iv) nrE‘OrEgdm` d) H$ZopŠQ>pìhQ>r gwYmaÊ`mgmR>r J«m‘rU añVo {dH$mg
Vo H$‘r BZnwQ>gh dmT>{dbo OmD$ eH$VmV
n`m©¶r CÎmao :
1) i-a ii-b iii-c iv-d

2) i-a ii-d iii-b iv-c

3) i-b ii-a iii-c iv-d

4) i-c ii-b iii-a iv-d

7) Match the correct pairs :

     Schemes                            Purpose

i) PM-AASHA a) procurement of oil seed and pulses under PSS and provide remunerative

prices

ii) MIS-PSS b) to ensure MSP to farmers comprising of PSS, PDPS and PPSS

iii) PM-KISAN c) to provide income support to farmer families

iv) PMGSY d) rural road development to improve connectivity

They can be grown with fewer inputs

Answer options :

1) i-a ii-b iii-c iv-d

2) i-a ii-d iii-b iv-c

3) i-b ii-a iii-c iv-d

4) i-c ii-b iii-a iv-d
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8) 2014 ‘Ü¶o emgZmZo {dÎmr¶ g‘mdoeZmgmR>r Imbrbn¡H$s H$moUVr ¶moOZm A§‘bmV AmUbr?
1) {ZíMbZrH$aU ¶moOZm 2) g§nÎmr {ddaU ¶moOZm
3) àYmZ‘§Ìr OZYZ ¶moOZm 4) darbn¡H$s gd©

8) In 2014, the Government implemented which of the following Scheme for financial inclusion ?

1) Demonetization Scheme 2) Property Disclosure Scheme

3) Pradhan Mantri Jan Dhan Yojana 4) All of the above

9) AÞnyUm© ¶moOZoMo cm^mWu H$moU AmhoV ?
1) emioVrc ‘wcr
2) àmg§{JH$ H$m‘Jma
3) amï´>r¶ d¥ÕmnH$mi {Zd¥Îmr doVZ ¶moOZoImcr ZmhrV Ago Á¶oð> ZmJ[aH$
4) {Zd¥Îm g¡{ZH$

9) Who are the beneficiaries of Annapurna Yojana ?

1) School girls

2) Casual labours

3) Senior citizens who are not under National Old Age Pension Scheme

4) Retired soldiers

(7) ^maVr¶ AW©ì¶dñWm, AW©ì¶dñWoMr AmìhmZo d Am{W©H$ gwYmaUm
1) Am°ŠQ>mo~a 2022 ‘Ü ò, Am§Vaamï´>r` ZmUo{ZYr (IMF) Zo FY23 gmR>r ^maVmÀ`m Am{W©H$ dmT>rMm A§XmO 7.4% À`m

Owb¡À`m A§XmOmdê$Z H$‘r Ho$bm.
1) 5.2% 2) 5.8% 3) 6.2% 4) 6.8%

1) In the month of October 2022, the International Monetary Fund (IMF) cut India's economic growth

estimate for FY23 to ............ from its July estimate of 7.4%.

1) 5.2% 2) 5.8% 3) 6.2% 4) 6.8%

2) XoemZo EH$m dfm©V CËnm{XV Ho$boë`m gd© A§{V‘ dñVy Am{U godm§Mo EHy$U ~mOma ‘yë` ¶mbm ...........Ago åhUVmV
1) {Zìdi amï´>r` CËnmXZ 2) gH$b amï´>r` CËnmXZ
3) gH$b Xoem§VJ©V CËnmXZ 4) {Zìdi Xoem§VJ©V CËnmXZ

2) The total market value of all final goods produced and services provided by a country in a year is

called as

1) Net National Product 2) Gross National Product

3) Gross Domestic Product 4) Net Domestic Product

3) dfm©Zwdf} XaS>moB© CËnÞmMr nmVir gwYmaV AgVmZm eoVrda Adb§~yZ Agboë`m l‘eº$sMo à‘mU H$‘r hmoVo na§Vw Vo
............ Am{U godm joÌmV dmTV OmVo.
1) ì`mnma 2) ì`dgm` 3) gmdH$ma 4) CÚmoJ

3) As the level of per capita income improves over the years the proportion of labour force dependent

on agriculture declines but that on ........... and services increases.

1) trading 2) business 3) money lender 4) industry
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4) AmJmD$ A§XmOmà‘mUo, df© 2020-21 ‘Ü¶o Am{W©H$ d¥ÕrV KQ> Pmë¶mZ§Va, df© 2021-22 ‘Ü¶o XoemMo dmñVì¶ ñWyc
Xoem§VJ©V CËnmXZ 9.2% Zo dmT>co. ¶mMm AW© Agm H$s,
1) gd© Am{W©H$ ì¶dhma nyd© nXmda ¶oV AmhoV.
2) gd© {ZXe©H$ Xe©{dVmV H$s, Xþgè¶m cmQ>oMm n{hë¶m {V‘mhrVrc Am{W©H$ n[aUm‘ gZ 2020-21 ‘Yrc nyU©

Q>mio~§Xrnojm H$‘r hmoVm.
3) n{hë¶m cmQ>o‘Ü¶o Amamo½¶ joÌmdarc n[aUm‘ ‘moR>m ZìhVm.
4) (1) Am{U (2)

4) Advance estimates suggest that the Indian economy is expected to witness real GDP expansion of

9.2 per cent in 2021-22 after contracting in 2020-21. This implies that

1) Overall economic activity has recovered past the pre-pandemic levels.

2) Almost all indicators show that the economic impact of the “second wave” in Q1 was much

smaller than full lockdown phase in 2020-21.

3) The impact on health sector was not severe during first wave.

4) (1) and (2)

5) Owb¡ 1991 nmgyZ AW©ì¶dñWoVrb nwadR>m ~mOy gwYmaÊ¶mgmR>r ì¶mnH$ CXmarH$aUmMo Cnm¶ bmJy Ho$bo OmV AmhoV.
¶mVrb A{YH$ ‘hÎdmMo AmhoV …
A) ì¶mnma Am{U ^m§S>db àdmh gwYmaUm ~) Am¡Úmo{JH$ {d{Z¶§ÌU
H$) {ZJwªVdUyH$ Am{U gmd©O{ZH$ CÚmoJ gwYmaUm S>) {dÎmr¶ joÌ gwYmaUm
n¶m©¶r CÎmao …
1) A Am{U ~ 2) H$ Am{U S> 3) A, ~ Am{U H$ 4) A, ~, H$ Am{U S>

5) Since July 1991, comprehensive liberalization measures have been undertaken to improve the

supply side of the economy. Among these the more important are :

a) Trade and capital flows reforms

b) Industrial deregulation

c) Disinvestment and Public Enterprises Reforms

d) Financial sector reforms

Answer Options :

1) a and b 2) c and d 3) a, b andc 4) a,b, c and d

(8) ^maVr¶ eoVr d J«m‘rU {dH$mg
* CËnmXH$Vm, gwYmaUm, {d{dY KQ>H$mgmR>r gdbVr d AZwXmZo>

1) ImÚ Vobm§darb amï´>r¶ {‘eZ-Vob nm‘ .......... ‘Ü¶o gwê$ H$aÊ¶mV Ambo.
1) Am°JñQ>, 2020 2) Am°JñQ>, 2019 3) Am°JñQ>, 2022 4) Am°JñQ>, 2021

1) National Mission on Edible oil-oil palm was launched in

1) August, 2020 2) August, 2019 3) August, 2022 4) August, 2021
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2) 2022-23 À`m H|$Ðr` AW©g§H$ënmV, H¥$fr Am{U eoVH$ar H$ë`mU ‘§Ìmb`mgmR>r EHy$U A§XmOnÌH$s¶ VaVyX {H$Vr
Amho?
1) 132513.62 H$moQ>r 2) 225025.07 H$moQ>r
3) 328011.13 H$moQ>r 4) 117308.20 H$moQ>r

2) How much is the total budget estimate for Ministry of Agriculture and Farmers’ Welfare, Govt.

of India, in the Union Budget for 2022—23 ?

1) 132513.62 Crores 2) 225025.07 Crores

3) 328011.13 Crores 4) 117308.20 Crores

3) àYmZ‘§Ìr ’$gb {d‘m `moOZm (PMFBY) ‘Ü ò W«oehmoëS> CËnÞmMr JUZm gdm}Îm‘ gamgar åhUyZ Ho$br OmVo
........... dfmªMo CËnÞ ‘mJrb ......... dfmªÀ`m CËnÞmn¡H$s.
1) 3, 5 2) 5, 10 3) 57 4) 7, 10

3) In Pradhan Mantri Fasal Bima Yojana (PMFBY) threshold yield is calculated as an average of best

........... years yield out of last .......... years yield.

1) 3, 5 2) 5, 10 3) 57 4) 7, 10

4) aoer‘ eoVrgmR>r (Bar, VwVr, Vwgma) amï´>r` AmnÎmr à{VgmX {ZYr (NDRF) A§VJ©V BZnwQ> g~{gS>r (OoWo nrH$ ZwH$gmZ
33% Am{U Ë`mhÿZ A{YH$ Amho) Amho.
1) 4800 à{V hoŠQ>a 2) 6000 à{V hoŠQ>a 3) 6800 à{V hoŠQ>a 4) 13500 à{V hoŠQ>a

4)  Input subsidy (where crop loss is 33% and above) under National Disaster Response Fund (NDRF)

for sericulture (Eri, Mulberry, Tussar) is

1) 4800 per ha. 2) 6000 per ha 3) 6800 per ha 4) 13500 per ha

5) nrH$ {d{dYrH$aU H$m¶©H«$‘ 2013-14 nmgyZ ............ Mr Cn¶moOZm åhUyZ am~{dÊ¶mV Ambm.
1) Am°naoeZ J«rÝg 2) amï´>r¶ H¥${f {dH$mg ¶moOZm
3) EH$ {Oëhm EH$ CËnmXZ 4) ^maVr¶ àmH¥${VH$ H¥${f nÕVr ¶moOZm

5) Crop Diversification Programme was implemented since 2013-14 as a sub-scheme of

1) Operation Greens

2) Rashtriya Krishi Vikas Yojana

3) One District One Product

4) Bharatiya Prakrituik Krishi Pandhati Programme

6) EH$mpË‘H$ eoVr nÕVrMo ........... ho C{Ôï> Amho.
1) eoVmVrb {Z{dð>m OmñVrV OmñV ~XbUo
2) A{YH$ CËnmXZmgmR>r OmñVrV OmñV IVm§Mm d qgMZmMm dmna H$aUo
3) ’$º$ EH$b eoVr CÚmoJmda bj H|${ÐV H$aUo
4) darbn¡H$s gd©

6) The objective of integrated farming system is ............

1) To achieve maximum replacement of off farm inputs

2) To use maximum fertilizers and irrigation for higher production

3) To concentrate only on single farm enterprise

4) All of the above
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7) H$mQ>oH$moa/AMyH$ eoVrMo Ü ò̀  ....... Amho
a) Cƒ BZnwQ> - Cƒ AmD$Q>nwQ> b) H$‘r BZnwQ> na§Vw gVV AmD$Q>nwQ>
c) Am°pßQ>‘mBP Ho$bobo BZnwQ> - AmD$Q>nwQ> d) H$‘r BZnwQ> - H$‘r AmD$Q>nwQ>
darbn¡H$s H$moUVo {dYmZ ~amo~a Amho/AmhoV?
1) a ’$º 2) b ’$º$ 3) c ’$º$ 4) a Am{U d ’$º$

7) Goal of precision farming is

a) High input — high output b) Low input but constant output

c) Optimised input — output d) Low input — low output

Which of the above statement/s is/are correct ?

1) a only 2) b only 3) c only 4) a and d only

8) PKVY Mo à‘wI joÌ g|{Ð` eoVrbm àmoËgmhZ XoV Amho Á`m‘Ü ò Imbrb Jmoï>tMm g‘mdoe Amho.
A) eoVH$è`m§‘Ü ò g|{Ð` eoVrbm àmoËgmhZ Úm
~) g|{Ð` eoVrVrb Z{dZV‘ V§ÌkmZmMm àgma H$am
H$) gmd©O{ZH$ H¥$fr g§emoYZ àUmbrVrb Vkm§À`m godm§Mm dmna H$am
S>) JmdmV {H$‘mZ EH$ ŠbñQ>a àmË`{jH$ Am`mo{OV H$am
n`m©¶r CÎmao :
1) Mmahr {dYmZo ~amo~a AmhoV 2) {dYmZ (H$) MyH$ Amho
3) ’$º$ {dYmZ (A) Am{U (~) ~amo~a AmhoV 4) ’$º$ {dYmZ (A) ~amo~a Amho

8) Key thrust areas of PKVY is promoting organic farming which includes the following.

a) Promote organic farming among farmers

b) Disseminate latest technology in organic farming

c) Utilize the services of experts from Public Agricultural research system

d) Organize a minimum of one cluster demonstration in village

Answer options :

1) All four statements are correct 2) Statement (c) is wrong

3) Only statement (a) and (b) are correct 4) Only statement (a) is correct

9) àYmZ‘§Ìr H¥$fr qgMmB© `moOZoMo (PMKSY) à‘wI KQ>H$ AmhoV.
1) àdoJH$ qgMZ bm^ H$m ©̀H«$‘ (AIBP) 2) ha IoV H$mo nmZr (HKKP)

3) à{V S´m°n ‘moAa H«$m°n (PDMC) 4) darb gd©
9) Major components of Pradhan Mantri Krishi Sinchayee Yojana (PMKSY) are

1) Accelerated Irrigation Benefit Program (AIBP)

2) Har Khet Ko Pani (HKKP)

3) Per Drop More Crop (PDMC)

4) All of the above

10) àYmZ‘§Ìr ’$gb {d‘m `moOZoÀ`m g§X^m©V Imbrb {dYmZmMm {dMma H$am.
A) `m `moOZ|VJ©V eoVH$è`mZo H$moUË`mhr h§Jm‘mV KoVboë`m {nH$mgmR>r XmoZ Q> o̧$ EH$g‘mZ àr{‘`‘ ^amdm bmJob.
~) `m `moOZoV MH«$sdmXi, AdH$mir nmD$g `m§‘wio H$mnUrZ§VaMo ZwH$gmZ g‘m{dï> Amho.
darbn¡H$s H$moUVo {dYmZ ~amo~a Amho/AmhoV?
1) ’$º$ A 2) ’$º$ ~ 3) A Am{U ~ XmoÝhr 4) XmoÝhrn¡H$s EH$ qH$dm ~ Zmhr
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10) With reference to Pradhan Mantri Fasal Bima Yojana, consider the following statement.

a) Under this scheme farmer will have to pay uniform premium of two per cent for any crop they

cultivate in any season.

b) The scheme covers post harvest losses arrising out of cyclones, unseasonal rains.

Which of the statement/s given above is/are correct ?

1) a only 2) b only 3) both a and b 4) Neither anor b

11) Imcrcn¡H$s H$moUVo à‘wI YmoaUmË‘H$ hñVjon ho ^maVmVrc ŷ-gwYmaUm§Mm ^mJ hmoVo ?
A) ‘Ü¶ñWm§Mo {Z‘y©cZ ~) Hy$i nÕVr gwYmaUm
H$) O‘rZ YmaUoda H$‘mc ‘¶m©Xm {ZpíMVr S>) ŷ-YmaUm§Mo EH$ÌrH$aU
n¶m©¶r CÎmao …
1) A, ~ Am{U H$ 2) ~, H$ Am{U S> 3) A, ~ Am{U S> 4) darcn¡H$s gd©

11) Which of the following major policy interventions are the part of the land reforms in India ?

a) Abolition of intermediaries b) Tenancy reforms

c) Fixing ceilings on land holdings d) Consolidation of land holdings

Answer Options :

1) a, b andc 2) b, c and d 3) a, b and d 4) All of the above

(9) ghH$ma - µH¥$fr {dÎm nwadR>m, {dnUZ, qH$‘Vr
1) gZ 2022 ‘Ü ò, àmW{‘H$ H¥$fr nVg§ñWm (CCEA) À`m g§JUH$sH$aUmgmR>r Am{W©H$ ì`dhmamdarb H°${~ZoQ> g{‘VrZo

(PACS) H$Vr ~OoQ> ‘§Oya Ho$bo?
1) é. 1,516 H$moQ>r 2) é. 2,516 H$moQ>r 3) é. 3,516 H$moQ>r 4) é. 4,516 H$moQ>r

1) In the year 2022, how much budget was approved by the Cabinet Committee on Economic Affairs

(CCEA) for the computerisation of Primary Agricultural Credit Societies (PACS) ?

1) Rs.1,516 crore 2) Rs.2,516 crore 3) Rs.3,516 crore 4) Rs.4,516 crore

2) 2018-19 À`m H|$Ðr` AW©g§H$ënmV E‘Egnr CËnmXZ IMm©À`m {H$Vr nQ> nmVirda R>odÊ`mMo nyd©{ZpíMV VÎd Omhra
Ho$bo hmoVo?
1) 1.25 2) 1.50 3) 1.75 4) 2.00

2)  The Union Budget for 2018—19 had announced the predetermined principle to keep MSP at the

level of how much times that of the cost of production ?

1) 1.25 2) 1.50 3) 1.75 4) 2.00

3) {S>g|~a 2021 n ª̀V ‘hmamï´> amÁ`mVrb {H$Vr APMCse-NAM `m g§nyU© ^maVmVrb BboŠQ´m°{ZH$ QóqS>J nmoQ>©bgmo~V
EH${ÌV AmhoV?
1) 76 2) 118 3) 180 4) 228

3) How many APMCs in Maharashtra State are integrated with e-NAM, a pan-India electronic trading

portal, up to Dec. 2021 ?

1) 76 2) 118 3) 180 4) 228
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4) Imbrbn¡H$s H$moUVo H$O© ñd-{Z‘y©bZ H$O© Amho?
1) XrK© ‘wXVrMo H$O© 2) nrH$ H$O© 3) ‘Ü`‘ ‘wXVrMo H$O© 4) M°Q>ob H$O©

4) Which of the following loan is a self-liquidating loan ?

1) Long term loan 2) Crop loan 3) Medium term loan 4) Chattel loan

5) ^maVmVrb AÞ g‘ñ òMo Imbrbn¡H$s H$moUVo n¡by AmhoV/AmhoV?
1) n[a‘mUmË‘H$ n¡by 2) JwUmË‘H$ n¡by
3) AÞYmÝ`mÀ`m MT>çm {H$‘Vr {d. H«$`eº$s 4) `m gd©

5) Which of the following is/are the aspects of food problem in India ?

1) Quantitative Aspects 2) Qualitative Aspects

3) High prices of food grains Vs. Purchasing power 4) All of these

6) A{YH$ eoVH$ar nrH$ {då`mµH$S>o H$m diV AmhoV?
1) eoVH$è`m§Zm {nH$m§À`m ZwH$gmZrnmgyZ g§ajU
2) AmYw{ZH$ V§ÌkmZmMm Adb§~ H$aÊ`mMm AmË‘{dídmg Úm
3) {nH$m§Mr VnmgUr H$aUo Am{U ZwH$gmZ {ZpíMV H$aUo H$R>rU Amho
4) d¡̀ {º$H$ eoVH$è`m§gmR>r {à{‘`‘Mm Xa {ZpíMV H$aUo H$R>rU

6) Why more farmers are going for crop insurance ?

1) Protection to farmers against failure of crops

2) Provide confidence to adopt modern technology

3) ltis difficult to inspect crops and determine damage

4) Difficult to fix rate of premium for individual farmers

7) Imbrbn¡H$s H$moUVm {gÕm§V ñnï> H$aVmo H$s , OgOgo ìho[aE~b BZnwQ>Mo A{V[aº$ ẁ{ZQ²g EH$ qH$dm A{YH$ {ZpíMV
BZnwQ²gÀ`m g§̀ moOZmV dmnabo OmVmV, VgVgo gr‘m§V ^m¡{VH$ CËnmXZ H$‘r hmoÊ`mg gwadmV hmoB©b?
1) KQ>Umè`m naVmì`mÀ`m {Z`‘ 2) g‘Vwë` naVmì`mÀ`m {Z`‘
3) {H$aH$moi ^m¡{VH$ CËnmXZmMm {Z`‘ 4) dmT>Ë`m CËnÞmMm {Z`‘

7) Which of the following law explains, “As additional units of variable inputs are used in combination

with one or more fixed inputs, the marginal physical product will eventually begin to decline” ?

1) Law of diminishing returns 2) Law of equimarginal returns

3) Law of marginal physical product 4) Law of increasing returns

8) {d{dY Am§Va{nH$m§Mo CËnÞ CËnmXZmÀ`m {H$‘Vrda AmYm[aV H$moUË`mhr EH$m {nH$mÀ`m g‘Vwë` CËnÞm‘Ü ò ê$nm§V[aV
H$ê$Z Imbrbn¡H$s H$moUVo ‘moObo OmVo?
1) gmnoj EHy$U CËnÞ 2) O‘rZ g‘Vwë` JwUmoÎma
3) nrH$ g‘Vwë` CËnÞ 4) EH$m{YH$ nrH$ {ZX}em§H$

8) Which one of the following is calculated by converting the yields of different intercrops into

equivalent yield of any one crop based on price of the produce ?

1) Relative total yield 2) Land equivalent ratio

3) Crop equivalent yield 4) Multiple cropping index
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9) APEDA Mo nyU© ê$n ........... Amho
1) H¥$fr Am{U à{H«$`m Ho$bobo AÞ CËnmXZo {Z`m©V {dH$mg àm{YH$aU
2) H¥$fr Am{U à{H«$`m Ho$bobo AÞ CËnmXZo ‘yë`‘mnZ Am{U {dH$mg àm{YH$aU
3) H¥$fr CËnmXZ Am{U AÞ CËnmXZo {Z`m©V {dH$mg àm{YH$aU
4) H¥$fr à{H«$`m, ‘yë`‘mnZ Am{U {dVaU àm{YH$aU

9) The full form of APEDA is ..............

1) Agricultural and Processed Food Products Export Development Authority

2) Agricultural and Processed Food Products Evaluation and Developmentm Authority

3) Agricultural Production and Food Products Export Development Authority

4) Agricultural Processing, Evaluation and Distribution Authority

10) Imbrbn¡H$s H$moUVo ’$m‘© ’$m`ZmÝg VÎdo 7 nr ‘Ü ò g‘m{dï> ZmhrV?
1) ì`{º$‘ÎdmMo VÎd 2) `mo½` dmnamMo VÎd
3) naV’o$S>rMo VÎd 4) AZwXmZmMo VÎd
5) CËnmXH$VoMo VÎd 6) X§S> ì`mOmMo VÎd
7) g§ajUmMo VÎd 8) Q>ßß`mQ>ßß`mZo {dVaUmMo VÎd
n¶m©¶r CÎmao …
1) 2 Am{U 7 2) 3 Am{U 5 3) 3 Am{U 1 4) 4 Am{U 6

10) Which of the following principles of farm finance is not included in 7Ps ?

1) Principle of personality 2) Principle of proper utilization

3) Principle of repayment 4) Principle of subsidy

5) Principle of productivity 6) Principle of penal interest

7) Principle of protection 8) Principle of phased disbursement

Answer options :

1) 2 and 7 2) 3 and 5 3) 3 and 1 4) 4 and 6

11) Xbmb Am{U AmèhmQ>tH$Sy>Z eoVH$è`m§Mo gd© emofU Xya H$aÊ`mgmR>r .......... ¶§ÌUm dmOdr H¥$fr‘mb XamMr h‘r XoVo.
1) ‘mH}$Q> `mS>© 2) {d{Z`{‘V ~mOma
3) ghH$mar {dnUZ 4) AmR>dS>r ~mOma

11) ...........assures reasonable prices so as to remove all exploitation of the farmers by dalals and

arhatiyas.

1) Market yard 2) Regulated market

3) Co-operative marketing 4) Weekly markets

12) AmOr{dH$m J«m‘rU EŠgàog `moOZm (AGEY) J«m‘rU ^mJmV gwa{jV, nadS>Umar Am{U g‘wXm¶mÛmao ì¶dñWmnZ
Ho$boë`m dmhVyH$ godm àXmZ H$aVo. ¶mA§VJ©VMr dmhZo ........ `m§À`m ‘mbH$sMr AgyZ Ë¶m§À¶mÛmao Mmb{dbr OmVmV.
1) J«m‘n§Mm`V 2) ghH$mar g§ñWm
3) ñd §̀-‘XV JQ>mMo gXñ` (SHG) 4) darbn¡H$s H$mhrhr Zmhr

12) Aajeevika Grameen Express Yojana (AGEY) provides safe, affordable and community monitored

transport services to rural areas. The vehicles are owned and operated by ........

1) Grampanchayat 2) Co-operative society

3) Member of Self-Help Group (SHG) 4) 4) None of the above
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13) ’y$S> àmogoqgJ B§S>ñQ´r (PLISFPI) gmR>r àm°S>ŠeZ qbŠS> BÝg|{Q>ìh ñH$s‘ ho à‘wI {d^mJ AmhoV
1) ~mOar AmYm[aV CËnmXZmgh AÞ {eOdÊ`mgmR>r / ImÊ`mgmR>r V`ma
2) à{H«$`m Ho$bobr ’$io Am{U ^mÁ`m
3) g‘wÐr CËnmXZo, ‘moPoaobm MrO
4) darb gd©

13) Production Linked Incentive Scheme for Food Processing Industry (PLISFPI) major segments

are

1) Ready to cook/ready to eat foods including millets based product

2) Processed fruits and vegetables

3) Marine products, Mozzerella cheese

4) All of the above

14) KCC `moOZoMm CÔoe Imbr Xe©{dë`mà‘mUo eoVH$è`m§Zm Ë`m§À`m JaOm§gmR>r ~±qH$J àUmbrH$Sy>Z nwaogm Am{U doioda
H«o${S>Q> ghmæ` àXmZ H$aUo Amho.
a) {nH$m§À`m bmJdS>rgmR>r Am{U H$mT>UrZ§VaÀ`m IMm©gmR>r AënH$mbrZ H$Om©Mr Amdí`H$Vm nyU© H$aÊ`mgmR>r.
b) {dnUZ H$O© CËnmXZ.
c) eoVH$ar Hw$Qw>§~mÀ`m dmnamÀ`m JaOm.
d) eoVrÀ`m ‘mb‘ÎmoÀ`m XoIaoIrgmR>r IoiVo ^m§S>db Am{U eoVrer g§~§{YV {H«$`mH$bmn.
e) H¥$fr Am{U g§b¾ {H«$`mH$bmnm§gmR>r Jw§VdUyH$ H«o${S>Q>Mr Amdí`H$Vm.
darbn¡H$s H$moUVo {dYmZ/Zo/`mo½`/gË` Amho?
1) a, b, c, d, e 2) a, b, c ’$º$ 3) a, b, c, e ’$º$ 4) a, b, c, d ’$º$

14) The KCC Scheme aims at providing adequate and timely credit support from banking system to

the farmers for their needs as indicated below.

a) To meet the short term credit requirement of cultivation and post harvest expenses of crops.

b) Produce marketing loan.

c) Consumption requirements of farmer household.

d) Working capital for maintenance of farm assets and activities allied to agriculture.

e) Investment credit requirement for agriculture and allied activities.

Which of the above statement/s is/are correct/true ?

1) a, b, c, d, e 2) a, b, c only 3) a, b, c, e only 4) a, b, c, d only

(10) ‘m¡{ÐH$ d {dÎmr¶ joÌ - MbZ nwadR>m, H«o${S>Q>, ‘m°{ZQ>ar nm°{bgr
1) {dÎmr¶ O~m~Xmar Am{U A§XmOnÌH$ ì¶dñWmnZ H$m¶Xm, 2003 (E’$ Ama ~r E‘ H$m¶Xm, 2003) Ago Z‘yX H$aVmo

H$s H|$Ð gaH$maZo ................ n¶ªV ‘hgwcr VyQ> Xÿa H$aÊ¶mgmR>r ¶mo½¶ Cnm¶¶moOZm H$aUo Amdí¶H$ Amho.
1) 2004-05 2) 2008-09 3) 2010-11 4) 2015-16

1) The Fiscal Responsibility and Budget Management Act, 2003 (FRBM Act, 2003) stipulates that

the Central Government must take appropriate measures to eliminate the revenue deficit by

1) 2004-05 2) 2008 —09 3) 2010-11 4) 2015-16
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2) OJmMo n{hco Am^mgr McZ ~rQ>H$m°B©Z ........... gmcr OÝ‘mcm Ambo.
1) 2006 2) 2007 3) 2008 4) 2009

2) World’s first virtual currency the bitcoin was born in .

1) 2006 2) 2007 3) 2008 4) 2009

3) 2021-22 Xaå¶mZ E‘-3 (M
3
) ‘Ü¶o ................. g‘m{dï> AmhoV.

A) nmoñQ> Am°{’$g ~MV ~±H$ R>odr. ~) nmoñQ> Am°{’$gÀ¶m EHy$U R>odr
H$) ~±H$mH$S>rb ‘wXV R>odr S>) ~±H$m§H$S>rb ‘mJUr R>odr
n¶m©¶r CÎmao …
1) A, ~ Am{U H$ 2) H$ Am{U S> 3) A, ~ Am{U S> 4) darbn¡H$s gd©

3) During 2021-22, Mg included

a) Post Office Saving Bank Deposit b) Total Post Office Deposits

c) Time Deposits with Banks d) Demand Deposits with Banks

Answer Options :

1) a, b and c 2) c and d 3) a, b and d 4) all of the above

4) amOH$mofr¶ ZrVrMr gmYZo H$moUVr ?
A) gmd©O{ZH$ ì¶¶ Am{U gmd©O{ZH$ H$O© ~) bmoH$emhr Am{U g§KamÁ¶mË‘H$ aMZm
H$) H$amamonU Am{U A§XmOnÌH$ S>) g§gX Am{U àemgZ
n¶m©¶r CÎmao …
1) A ’$º$ 2) ~ Am{U H$ ’$º$ 3) S> ’$º$ 4) A Am{U H$ ’$º$

4) Which are the instruments of fiscal policy ?

a) Public spending and public debt b) Democracy and federal structure

c) Taxation and budget d) Parliament and administration

Answer Options :

1) a only 2) b and c only 3) d only 4) a and c only

(11) gmd©O{ZH$ {dÎm - ‘hgyb, AW©g§H$ën, gmd©O{ZH$ IM©
1) 2023-24 À`m AW©g§H$ënmV, H$m‘Jma Am{U amoOJma ‘§Ìmb`mÀ`m AW©g§H$ënmMr VaVyX A§XmOo ............ Amho.

1) é. 16,221.73 H$moQ>r 2) é. 14,221.73 H$moQ>r
3) é. 13,221.73 H$moQ>r 4) é. 10,221.73 H$moQ>r

1) In the budget 2023-24, the allocation of budget to the Ministry of Labour and Employment is

approximately ...............

1) Rs.16,221.73 crore 2) Rs.14,221.73 crore

3) Rs.13,221.73 crore 4) Rs.10,221.73 crore

2) > 12 ì¶m {dÎm Am¶moJmZo amï´>r¶ AmnÎmr {ZdmaU {ZYrMr ¶moOZm H|$Ð Am{U amÁ¶m§À¶m ¶moJXmZmgh .......... À¶m à‘mUmV
Mmby R>odÊ¶mMr {e’$mag Ho$br.
1) 25:75 2) 50:50 3) 75:25 4) 90:10

2) The 12th Finance Commission recommended the continuance of the scheme of National Calamity

Relief Fund with contributions from the Centre and the States on the ration of .......

1) 25 : 75 2) 50 : 50 3) 75 : 25 4) 90 : 10
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3) Am°JñQ> 1991 ‘Ü¶o ̂ maVmVrb H$a gwYmaUm {e’$magtgmR>r Imbrbn¡H$s H$moUVr g{‘Vr {Z¶wº$ H$aÊ¶mV Ambr hmoVr?
1) S>m°. amOm Oo. Mobæ¶m 2) E‘. Zaqgh‘
3) S>m°. gwI‘m°¶ MH«$dVu 4) S>m°. Am{~X hþgoZ

3) Which of the following committee was appointed to recommended tax reforms in India August

1991 ?

1) Dr. Raja J. Chelliah 2) M. Narashinhan

3) Dr. Sukhmoy Chakravarty 4) Dr. Abid Husen

4) 2023-24 À¶m AW©g§H$ënmV Imbrbn¡H$s H$moUVo àmYmÝ¶H«$‘ AmhoV?
A) gd©g‘mdoeH$ {dH$mg ~) h[aV dmT> H$) ¶wdm eº$s S>) Am{W©H$ joÌ
n¶m©¶r CÎmao …
1) A Am{U S> 2) ~ Am{U H$ 3) A Am{U ~ 4) A, ~, H$ Am{U S

4) Which of the following are priorities of budget 20023-24 ?

a) Inclusive development b) Green growth

c) Youth power d) Financial sector

Answer Options :

1) a amd d 2) b and c 3) a and b 4) a, b, c amd d

5) Imbrbn¡H$s H$moUVo/Vr {dYmZ/Zo A¶mo½¶ Amho/V?
A) ¶wQ>rOrEgQ>r, H|$Ð gaH$ma Am{U H|$Ðem{gV àXoe gaH$mam§Ûmao Jmoim Ho$bo OmVmV
~) Am¶OrEgQ>r, H|$Ð gaH$ma Am{U amÁ¶ gaH$mao Jmoim H$aVmV
n¶m©¶r CÎmao …
1) ’$º$ A A¶mo½¶ Amho 2) ’$º$ ~ A¶mo½¶ Amho.
3) XmoÝhr A Am{U ~ A¶mo½¶ AmhoV 4) darbn¡H$s Zmhr

5) Which of the following statement/s is/are incorrect ?

a) UTGST, is collected by Central Government and Union Territory Governments.

b) IGST, is collected by Central Government and State Governments.

Answer Options :

1) Only a is incorrect 2) Only b is incorrect

3) Both a and b are incorrect 4) None of the above

6) H|$Ðr` AW©g§H$ën 2023 À`m g§X^m©V; Imbrb Jmoï>r Owidm.
       àmYmÝ`                 Cnm`
a) gd©g‘mdoeH$ {dH$mg I) XwîH$mir ^mJmgmR>r nmUr
b) eodQ>À`m ‘¡bmn ª̀V nmohmoMUo II) H¥$frgmR>r {S>{OQ>b gmd©O{ZH$ nm`m ŷV gw{dYm
c) {hadr dmT> III) pñH$b B§{S>`m {S>{OQ>b ßb°Q>’$m°‘©
d) ẁdm eº$s IV) nrE‘-àUm‘
n`m©¶r CÎmao :

(a) (b) (c) (d)

1) (ii) (i) (iv) (iii)

2) (i) (ii) (iii) (iv)

3) (iv) (iii) (ii) (i)

4) (iii) (ii) (i) (iv)
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6) In reference to Union Budget 2023 ; Match the followings.

         Priority               Measures

a) Inclusive development I) Water for drought prone area

b) Reaching the last mile II) Digital Public Infrastructure for Agriculture

c) Green growth III) Skill India digital platform

d) Youth power IV) PM-PRANAM

Answer options :

(a) (b) (c) (d)

1) (ii) (i) (iv) (iii)

2) (i) (ii) (iii) (iv)

3) (iv) (iii) (ii) (i)

4) (iii) (ii) (i) (iv)

7) df© 2021-22 ‘Ü¶o EHy$U Cn^moJ 7% Zo dmT>oc Agm A§XmO Amho H$maU ..........
1) gaH$maZo gmd©O{ZH$ IM© d¥ÕrgmR>r Ho$cobo ^ard ¶moJXmZ
2) H$moamoZm ‘hm‘marnyd© H$mcmnojm ñWyyc pñWa ^m§S>dc {Z{‘©Vr A{YH$
3) dñVy Am{U godm {Z¶m©V 2021-22 ‘Ü¶o AndmXmË‘H$[aË¶m à~i
4) darc gd©

7) Total consumption is estimated to grow by 7 per cent in 2021-22 because of

1) Significant contributions from government spending

2) Gross Fixed Capital Formation exceeded pre-pandemic levels

3) Exports of both goods and services have been exceptionally strong

4) All the above

8) O|S>a ~OoQ> åhUOo H$m¶?
1) nwéfm§gmR>r doJim AW©g§H$ën
2) ‘{hbm§gmR>r doJim AW©g§H$ën
3) gm‘mÝ¶ AW©g§H$ënmV nwéfm§gmR>r ñdV§Ì VaVwXr
4) gm‘mÝ¶ AW©g§H$ënmV ‘{hbm§gmR>r ñdV§Ì VaVwXr

8) What is meant by Gender Budget ?

1) Separate budget for men

2) Separate budget for women

3) Independent provisions for men in the general budget

4) Independent provisions for women in the general budget
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(12) CÚmoJ d godm joÌ
1) Imcrc {dYmZo {dMmamV ¿¶m :

a) ^maV gaH$maZo 24 Owc¡ 1991 amoOr ZdrZ Am¡Úmo{JH$ YmoaU Omhra Ho$co.
b) ¶m YmoaUm‘wio gaH$magmR>r amIrd Agcoë¶m CÚmoJm§Mr g§»¶m 10 n¶ªV H$‘r Pmcr.
darcn¡H$s H$moUVr {dYmZo ~amo~a Amho/AmhoV ?
1) (a) ~amo~a Amho 2) (b) ~amo~a Amho
3) XmoÝhr (a) (b) Am{U ~amo~a AmhoV 4) darcn¡H$s Zmhr

1) Consider the following statements :

a) The Government of India announced a New Industrial Policy on July 24, 1991.

b) The policy reduced the number of industries reserved for the government to 10.

Which of the statements given above is/are correct ?

1) (a) is correct 2) (b) is correct

3) Both (a) and (b) are correct 4) None of the above

2) ‘hmamï´> amÁ` AW©g§H$ën 2023 ‘Ü ò, ‘m. AW©‘§Í`m§Zr eoVH$ar H|${ÐV `moOZm Omhra Ho$ë`m. `m g§X^m©V Imbrbn¡H$s
H$moUVo ~amo~a/Zmhr?
a) ‘hmH¥$fr {dH$mg `moOZm
b) YmZ / Vm§Xÿi CËnmXH$ eoVH$è`m§Zm 15,000 é. à{V hoŠQ>a àmoËgmhZna a¸$‘ àXmZ H$aUo
c) ‘hmamï´> lrAÞ A{^`mZ
d) PMFBY ‘Ü ò eoVH$è`m§Mm {d‘m hám amÁ` gaH$ma ^aob
e) CËnÞ g‘W©Z é. H|$Ðr` PM-KISAN ̀ moOZ|VJ©V g‘m{dï>/bm^ Z {‘imboë`m eoVH$ar Hw$Qw>§~m§Zm à{Vdfu 6,000
n`m©¶r CÎmao :
1) ’$º$ a Am{U c 2) a Am{U d ’$º$ 3) a ’$º$ 4) e ’$º$

2) In Maharashtra State Budget 2023, Hon. Finance Minister announced Farmer Centric Schemes.

In this context which of the following is/are not correct ?

a) Mahakrishi Vikas Yojna

b) Provide an incentive amount of Rs. 15,000 per ha. to the paddy farmers

c) Maharashtra “Shree Anna” Abhiyan

d) In PMFBY insurance premium of farmer will be paid by the State Government

e) Income support of Rs. 6,000 per year to farmer families who are not covered/ benefited under

Central PM-KISAN Scheme

Answer options :

1) a and c only 2) a and d only 3) a only 4) e only

3) df© 2021-22 ‘Ü¶o ^maVmVrc H$moUË¶m CËnmXH$ joÌmZo CÎm‘ H$m‘{Jar Ho$br?
1) eoVr Am{U g§c¾ joÌ 2) CÚmoJ (ImUH$m‘ Am{U ~m§YH$m‘ Yê$Z) joÌ
3) godm joÌ 4) darc gd©

3) In the year 2021-22, which productive sector of India will show the better performance ?

1) Agriculture and allied sectors 2) Industry (including mining and construction)

3) Service sector 4) All the above
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(13) nm`m ŷV gw{dYm {dH$mg
1) Imbrbn¡H$s H$moUË`m ‘{hÝ`mV n§VàYmZ lr Za|Ð ‘moXr `m§Zr ẁ{Z’$mBS> bm°{OpñQ>H$ B§Q>aog ßb°Q>’$m°‘© (ULIP) bm±M

Ho$bo?
1) gßQ>|~a 2022 2) Am°ŠQ>mo~a 2022 3) Zmoìh|~a 2022 4) {S>g|~a 2022

1) In which of the following months was the Unified Logistics Interace Platoform (ULIP) launched

by Prime Minister Shri Narendra Modi ?

1) September 2022 2) October 2022 3) November 2022 4) December 2022

2) ^maVmVrb ZmJar J¥h{Z‘m©U AZweof gmoS>{dÊ`mgmR>r 'àYmZ‘§Ìr Amdmg `moOZm (ehar)' Imbrbn¡H$s H$moUË`m dfm©V
gwê$ H$aÊ`mV Ambr?
1) 2017 2) 2014 3) 2015 4) 2018

2) In which of the following years was the 'Pradhan Mantri Awas Yojana (Urban)' launched to tackle

the urban housing backlog in India ?

1) 2017 2) 2014 3) 2015 4) 2018

3) ""ñdÀN> ^maV A{^¶mZ"" ............ ¶m {Xder gwé H$aÊ¶mV Amco
1) 2 Am°³Q>mo~a, 2015 2) 2 Am°³Q>mo~a 2014 3) E[àc 2005 4) E{àc 2004

3) “Swachh Bharat Abhiyan” was started on the

1) 2nd October, 2015 2) 2nd October, 2014 3)14th November, 2014 4) 26th January, 2014

4) ""amOrd Jm§Yr J«m‘rU {Zdmam ¶moOZm"" ............ ‘Ü¶o Omhra H$aÊ¶mV Amcr.
1) Am°³Q>mo~a, 2006 2) ‘mM©, 2009 3) E{àc, 2010 4) Zmoìh|~a, 2005

4) “Rajeev Gandhi Rural Shelter Scheme” was declared in

1) October, 2006 2) March, 2009 3) April, 2010 4) November, 2005

5) ""amOrd Jm§Yr J«m‘rU {dÚwVrH$aU ¶moOZm (RGGVY) "" ............. ‘Ü¶o gwé H$aÊ¶mV Amcr.
1) ‘o 2005 2) OmZodmar 2010 3) E[àc 2005 4) E{àc 2004

5) “Rajeev Gandhi Grameen Vidyutikaran Yojana (RGGVY)” was launched in

1) May 2005 2) January 2016 3) April 2005 4) April 2004

6) ’o$~«wdmar 2023 ‘Ü ò, ^maV gaH$maZo ìhmoS>m’$moZ Am`{S>`m (Vi) ‘Ü ò {H$Vr {hñgm KoVbm?
1) 26% 2) 30% 3) 33% 4) 36%

6) In the month of February 2023, how much stake did the Government of India take in Vodafone

Idea (Vi) ?

1) 26% 2) 30% 3) 33%

7) Odmhacmc Zohé amï´>r¶ ehar nwZéËWmZ A{^¶mZ A§VJ©V eha énm§VaU A{^¶mZm‘Ü¶o H|$Ð Am{U amÁ¶ gaH$maMm
dmQ>m ......... BVH$m Amho.
1) 50 : 50 2) 40 : 60 3) 60 : 40 4) darcn¡H$s Zmhr

7) Under the Jawaharlal Nehru National Urban Renewal Mission (JNNURM) — Urban Rejuvenation

Mission contribution ratio of Central and State Government is

1) 50:50 2) 40:60 3) 60:40 4) None of the above
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8) CÁdb {S>ñH$m°‘ A°í¶waÝg ¶moOZm H$moUr gwê$ Ho$br ?
1) H|$Ð gaH$ma 2) amÁ¶ gaH$ma
3) ‘hmamï´> {dÚwV ~moS>© 4) OrdZ {d‘m {ZJ‘

8) Who launched Ujwal Discom Assurance Yojana ?

1) Central Government 2) State Government

3) Maharashtra Electricity Board 4) Life Insurance Corporation

9) AQ>b nwZé‚mrdZ d ehar n[adV©Z A{^¶mZ (AMRUT) {df¶r Imbrbn¡H$s H$moUVo {dYmZ ~amo~a Zmhr?
1) AMRUT ho ^maV gaH$maMo à‘wI A{^¶mZ Amho.
2) J¥h{Z‘m©U d ehar ì¶dhma ‘§Ìmb¶ ¶m§Zr ho A{^¶mZ gwê$ Ho$bo Amho.
3) Vo Xoe^amVrb eham§‘Yrb nmÊ¶mÀ¶m nwadR>çmMr AmìhmZo gmoS>{dVo.
4) 25 OyZ 2015 ‘Ü¶o Xoe^amVrb 500 eham§‘Ü¶o Vo H$m¶m©pÝdV H$aÊ¶mV Ambo.

9) Which of the following statements about Atal Mission for Rejuvenation and Urban Transformation

(AMRUT) is not correct ?

1) AMRUT is flagship mission of Government of India

2) It was launched by Ministry of Housing and Urban Affairs

3) It addresses the challenges of water supply in cities across the country

4) It was launched on 25th June, 2015 in 500 cities in the country

10) ZmJarH$aU åhUOo ............
A) eham§‘Ü¶o cmoH$g§»¶oMo H|$ÐrH$aU ~) eham§‘Ü¶o cmoH$g§»¶oMo {dH|$ÐrH$aU
H$) IoS>çmV cmoH$g§»¶oMo H|$ÐrH$aU S>) cmoH$g§»¶oÀ¶m KZVoV dmT>
n¶m©¶r CÎmao …
1) ’$º$ A 2) ’$º$ A Am{U ~ 3) ’$º$ A Am{U S> 4) darcn¡H$s gd©

10) Urbanization means ...........

a) Centralization of population in the cities b) Decentralization of population in the cities

c) Centralization of population in villages d) Increase in density of population

Answer Options :

1) Only a 2) Only a and b 3) Only a and d 4) All of the above

(14) ^maVmMm {dXoer ì¶mnma - AmH$ma‘mZ, {Xem Am{U aMZm
1) {dXoer {d{Z‘¶ {Z¶‘Z H$m¶Xm (FERA) ........... amoOr A§‘cmV Amcm.

1) 1 OmZodmar, 1972 2)1 OmZodmar, 1973
3) 1 OmZodmar, 1974 4)1 OmZodmar, 1975

1) Foreign Exchange Regulation Act (FERA) came into force on

1) 1st January, 1972 . 2) 1st January, 1973

3) 1st January, 1974. 4) 1st January, 1975
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2) 2021-22 ‘Yrb ‘hmamï´>mVrb {Z`m©V ‘yë`mZwgma {nH$m§Mr H«$‘dmar Owidm.
H«$m°n Zo‘ a±qH$J ({Z`m©VrÀ`m ‘yë`mZwgma)
a) Am§~m I) 5 dm
b) Ðmjo II) 2am
c) g§Ìm III) 3am
d) Ho$ir IV 4 Wm
e) H$m§Xm V) 18
n`m©¶r CÎmao :

(a) (b) (c) (d) (e)

1) (V) (II) (III) (IV) (I)

2) (I) (III) (IV) (V) (II)

3) (V) (I) (IV) (III) (II)

4) (V) (I) (III) (II) (IV)

2) Match the ranking of crops as per value exports from Maharashtra in 2021-22.

Crop Name Ranking (As per value of export)

a) Mango I) 5th

b) Grapes II) 2nd

c) Orange III) 3rd

d) Banana IV) 4th

e) Onion V) 18

Answer options:

(a) (b) (c) (d) (e)

1) (V) (II) (III) (IV) (I)

2) (I) (III) (IV) (V) (II)

3) (V) (I) (IV) (III) (II)

4) (V) (I) (III) (II) (IV)

3) ì`mnmamÀ`m dm{f©H$ {díbofUmgmR>r amï´>r` Am`mV-{Z`m©V aoH$m°S>©Zwgma; 2021-22 `m Am{W©H$ dfm©V H¥$fr ‘mbmÀ`m
{Z`m©VrÀ`m ‘yë`mÀ`m ~m~VrV Imbrbn¡H$s H$moUVo amÁ` n{hë`m VrZ amÁ`m§‘Ü ò Amho?
1) JwOamV, ‘hmamï´> Am{U Am§Y« àXoe
2) ‘hmamï´>, Am§Y« àXoe Am{U CÎma àXoe
3) JwOamV, ‘hmamï´> Am{U CÎma àXoe
4) JwOamV, ‘hmamï´> Am{U H$Zm©Q>H$

3) As per National Import-Export record for yearly analysis of trade; which of the following States

ranks among top three in respect of value in share of export in agriculture commodity in financial

year 2021 —22 ?

1) Gujarat, Maharashtra and Andhra Pradesh

2) Maharashtra, Andhra Pradesh and Uttar Pradesh

3) Gujarat, Maharashtra and Uttar Pradesh

4) Gujarat, Maharashtra and Karnataka
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4) 2021-22 ‘Ü ò ^maVmVrb ~mOar {Z`m©V H$aUmè`m XmoZ à‘wI Xoem§n¡H$s H$moUVo Xoe (E‘Q>rÀ`m à‘mUmV) AmhoV?
1) g§̀ wº$ Aa~ A{‘amVr Am{U ẁZm`Q>oS> ñQ>oQ²g Am°’$ A‘o[aH$m
2) g§̀ wº$ Aa~ A{‘amVr Am{U Zonmi
3) MrZ Am{U g§̀ wº$ Aa~ A{‘amVr
4) MrZ Am{U O‘©Zr

4) Which of the following are top two millet exporting destination countries (in terms of quantity

MT) of India in 2021-22 ?

1) United Arab Emirates and United States of America

2) United Arab Emirates and Nepal

3) China and United Arab Emirates

4) China and Germany

5) Imbrbn¡H$s H$moUË`m {nH$m§À`m {Z`m©Vr‘wio ^maVmV d¡km{ZH$ eoVr gwê$ Pmbr?
1) gỳ ©’y$b, ‘mohar, H$aS>B© 2) Jhÿ, Vm§Xyi, ~mbu
3) D$g, H$mnyg, V§~mIy 4) H$mnyg, Mhm, VmJ

5) Which of the following crops export has began the scientific agriculture in India ?

1) Sunflower, Mustard, Safflower 2) Wheat, Rice, Barley

3) Sugar cane, Cotton, Tobacco 4) Cotton, Tea, Jute

6) Imcrc {dYmZo {dMmamV ¿¶m :
a) E{àc-Zmoìh|~a 2021 ‘Ü¶o ^maVmVyZ gdm©{YH$ {Z¶m©V ¶yEgE, ¶wEB© Am{U MrZ ¶m Xoem§Zm Pmcr hmoVr.
b) ¶mM H$mimV MrZ, ¶yEB© Am{U ¶yEgE ho ^maVmmR>r gdm©V ‘moR>o Am¶mV ómoV hmoVo.
darcn¡H$s H$moUVr {dYmZo ~amo~a Amho/AmhoV ?
n¶m©¶r CÎmao :
1) ’$º$ (a) 2) ’$º$ (b) 3) XmoÝhr (a) Am{U (b) 4) darcn¡H$s Zmhr

6) Consider the following statements :

a) During April-November 2021, the highest exports from India were to USA, UAE and China.

b) During the same period China, UAE and USA were the largest import sources for India.

Which of the statements given above is/are correct ?

1) Only(a) 2) Only (b) 3) Both (a) and (b) 4) None of the above

(15) ‘hmamḯ>mMr AW©ì¶dñWm

o o o
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(1) g‘J«bjr AW©emó, ‘hmJmB© - H$maUo, n[aUm‘, {Z §̀ÌU, Cnm`
1-3 2-3 3-3 4-2 5-1 6-3 7-1 8-4

(2) gmd©O{ZH$ {dÎm - Am{W©H$ d {dÎmr` YmoaU, boImnarjU, boIm
1-3 2-4 3-1 4-1 5-4 6-1 7-1 8-4 9-3

(3) ‘Zwî¶~i/ bmoH$g§»¶m, Am§Vaamḯ>r` ì`mnma d Am§Vaamḯ>r` ^m§S>db
1-1 2-1

(4) d¥Õr Am{U {dH$mg - joÌr` dmT>, EgS>rOr, n§Mdm{f©H$ ¶moOZm
1-3 2-3 3-2 4-2 5-4 6-2 7-4 8-3 9-4 10-3
11-3 12-3 13-3 14-4 15-4 16-3 17-3 18-3 19-3 20-4
21-4

(5) J[a~r / ~oH$mar, amoOJma {Z{‘©Vr H$m ©̀H«$‘
1-1 2-4 3-2 4-4 5-2 6-1 7-3 8-1 9-2 10-3
11-1 12-3 13-4 14-2

(6) {dH$mg H$m ©̀H«$‘ - gm‘m{OH$ gwajm, {dÎmr¶ g‘mdoeZ
1-4 2-1 3-2 4-4 5-3 6-4 7-3 8-3 9-3

(7) ^maVr¶ AW©ì¶dñWm, AW©ì¶dñWoMr AmìhmZo d Am{W©H$ gwYmaUm
1-4 2-2 3-4 4-4 5-4

CÎmao … ‘hmamḯ> AamOn{ÌV godm ‘w»¶ narjm (JQ> ~)/(JQ> H$) 2023

nona H«$‘m§H$ - 2 : gm‘mÝ¶ j‘Vm MmMUr

(4) AW©ì¶dñWm d {Z¶moOZ, {dH$mg {df¶H$ AW©emó Am{U H¥$fr
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(8) ^maVr¶ eoVr d J«m‘rU {dH$mg
1-4 2-1 3-3 4-2 5-2 6-1 7-3 8-1 9-4 10-2
11-4

(9) ghH$ma - µH¥$fr {dÎm nwadR>m, {dnUZ, qH$‘Vr
1-2 2-2 3-2 4-2 5-4 6-1 7-1 8-3 9-1 10-4
11-3 12-3 13-4 14-1

(10) ‘m¡{ÐH$ d {dÎmr¶ joÌ - MbZ nwadR>m, H«o${S>Q>, ‘m°{ZQ>ar nm°{bgr
1-2 2-3 3-2 4-4

(11) gmd©O{ZH$ {dÎm - ‘hgyb, AW©g§H$ën, gmd©O{ZH$ IM©
1-3 2-3 3-1 4-4 5-3 6-1 7-4 8-4

(12) CÚmoJ d godm joÌ
1-1 2-4 3-2

(13) nm`m ŷV gw{dYm {dH$mg
1-1 2-3 3-2 4-4 5-3 6-3 7-3 8-1 9-3 10-1

(14) ^maVmMm {dXoer ì¶mnma - AmH$ma‘mZ, {Xem Am{U aMZm
1-3 2-3 3-3 4-2 5-3 6-3

(15) ‘hmamḯ>mMr AW©ì¶dñWm


